UGC NET 2021 Arab Culture and Islamic Studies

Topic:- 49ArabCulture_A

1) The Mountain of Uhud is located to the
(1) South of Al-Madinah (2) North of Al-Madinah

(3) East of Al-Madinah (4) West of Al-Madinah
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2) One of the following was among the six members of the Committee constituted to appoint the third Caliph

(1) Nafe‘ ibn Abd al-Harith (2) Abd al-Rahman ibn ‘Awf

(3) Uthman ibn Abi al-Aas (4) Amr ibn al-Aas
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3) Leading Meccans in Pre-Islamic period had Summer houses in
(1) Najran (2) San‘a
3) Yathrib (4) Taif
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4) Bay‘at al-Ridwan was held at
(1) Badr (2) Tabuk

3) Al- Hudaybiyah (4) Khaybar
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5) Dahis and al-Ghabra war was fought between
(1) Kinanah and Hawazin (2) Banu Bakr and Banu Taghlib

(3) ‘Abs and Dhubyan (4) Qaynqa and Qurayza
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6) Imru’-al-Qays | was one of the
(1) Sasanid kings (2) Lakhmid kings

(3) Abyssinian kings (4) Minaean kings
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7) The capital of the Lakhmid Kingdom was
(1) Yamamah (2) Najran
(3) Ma‘rib (4) Al-Hirah
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8) Yazid’s contingent that laid siege to Constantinople included the legendary hero

(1) Abu-Ayyib Ansari (2) Zubayr ibn al Awwam

(3) Talha ibn ‘Ubayd Allah (4) Mu‘az ibn Jabal
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9) Hibr al-ummah (the sage of the community) was the title of

(1) Abdullah ibn Umar (2)  Abdullah ibn Masud



(3) Abdullah ibn Zubayr
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10) The Shattariyya Sufi order was founded in India by

(1) Shah Abdullah

(3) Muhammad Ghauth
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(2) Sultan Ghayasuddui Shah

(4) Shaykh Ahmad Sirhindi
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11) Marwan Il was defeated and later killed after the

(1) Battle of Harrah
(3) Battle of Marj Rahit
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12) The incharge of the diwan of third rightly guided Caliph and the future caliph was
(1) Marwan | (2) Al-Walid |
(3) Sulayman (4) Abd al-Malik
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13) The Diyar Mudar was established along the Euphrates by
(1) North Arabian tribes (2) South Arabian tribes

3) East Arabian tribes (4) West Arabian tribes
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14) The first ruler to institute a royal throne ( al-mulk) was
(1) Yazid | (2) Abd al-Malik

3) Mu ‘awiyah (4) Hisham
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15) One of the true statesmen of the Banu-Umayyah was
(1) Marwan Il (2) Ibrahim

3) ‘Abd-al-Malik (4) VYazid Il

o THET % T TEHART A U a1 -

() waE=II (2) =TlEm
(3)  T=-TA-HAE (4 TA=II

[Question ID = 1318][Question Description = Q15_ArabCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5269]
2.2

[Option ID = 5270]
3.3

[Option ID = 5271]
4. 4

[Option ID = 5272]

16) The Umayyad ruler who is credited with arabicization of the state was
(1) Al-Walid (2) Mu ‘awiya lll

3) Ibrahim (4) Yazidll
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17) The Moorish traveller who visited Baghdad in 1327 was
(1) Ibn Battuta (2) Vasco De Gama
3) Al-Masoodi (4) Al-Beruni
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18) Wadi al-Sughd (the valley of Sogdiana) is located between
(1) Basra and Baghdad (2) Samargand and Bukhara
3) Halb and Damascus (4) Aleppo and Istanbul
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19) Caliph Al-Muktafi appointed Ahmad ibn Buwayh as his
(1) Amir al-Umara (2) Grand Vizir
3) Qadhi al-Qudhat (4) Amir al-Bahr
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20) Tarikh al-Rusul Wa al-Muliik was written by
(1) Khatib al-Baghdadi (2) Al-Tabari
3) Ibn Asir (4) Al-Masoodi
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21) Al-Farabi is also called
(1) Arabian intellectual (2) The poet Laureate

3) The Desert warrior (4) The Second Teacher
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22) The conqueror of Africa and Spain, Musa ibn Nusayr was seen begging in
(1) Wadi al-Qura (2) Damascus
3) Madinah (4) Wadi al-Zahra
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23) OnJuly 19, 711 Tariq ibn Ziyad defeated the strong army of
(1) Queen Elizabeth (2) King Ferdinand
(3) King Julian (4) King Roderick
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24) The Spanish people who adopted the Arab culture were called
(1) The Anti-Islam Spaniards (2) Christian Mercenaries

3) Mozarabs (4) Converts to Islam
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25) Al-Hambra (Al-Hamra) was built by
(1) Abd al-Rahman (2) Muhammad Al-Ghalib
3) Al-Hakam Il (4) Al-Mansur
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26) The Muslim rule in Spain ended in
(1) October 1491 (2) December 1495
3) March 1490 (4) January 1492
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27) Umar Khayyam belonged to the dynasty of
(1) Samanids (2) Saljugs
3) Ghaznavids (4) Fatimids
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28) Samanid dynasty was established in the year

(1) 870 A.D. (2) 874 A.D.
(3) 880 A.D. (4) 871A.D.
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29) The Hamadanid dynasty was established in the year
1) 910 A.D. (2) 915 A.D.
3) 919 A.D. (4) 929 A.D.
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30) The first shi‘ite dynasty in history was

(1) Hamadanids (2) Fatimids
3) Idrisids (4) Buwayhids
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31) The founder of Tulunid dynasty “Ahmad Ibn Tulun” was
(1) Arab (2) Turk
3) Iranian (4) Berber
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32) The capital of Ikhshidi dynasty was

(1)  Fas (2)  Mawsil
(3)  Fustat (4) Halab
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33) Ghaznavids were originally

1) The Arabs (2) The Turks
3) The Kurds (4) The Berbers
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34) The founder of Aghlabi dynasty Ibrahim bin Aghlab was appointed Governor of Africa by
(1) Al-Hadi (2) Al-Ameen
3) Haroon Rashid (4) Mamoon Rashid
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35) Shaikh Haji Bayram Wali was the teacher and advisor to the Sultan
1) Salim | (2) Bayazid|

3) Mehmet Fatih (4) Sulayman the magnificent
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36) The Fifth ruler of the Safavid dynasty was



(1) Shah Ismail (2) Shah Tahmasp
3) Shah Abbas (4) Shah Ismail Il
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37) The fourth ruler of the Safawid Dynasty was
(1) Muhammad Khodabanda (2) Abbasl
3) Ismail Il (4) Tahmasp Il
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38) The flower that was the popular symbol of the Ottoman Empire and stood for the perfection and beauty in the
Modern Turkey

(1) Rose (2) Lily
3) Daffodil (4) Tulip
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39) The Unit of Currency of the Ottoman Empire was the
(1) Para (2) Akca



3) Lira (4) Kurus
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40) Sultan Salim conclusively defeated Shah Ismail in the battle of
(1) Chaldiran (2) Sivas
3) Warna (4) Farghana
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41) The ldea of reforms conceived by Sultan Mahmud and later implemented by Sultan Abd
al-Majid were known as
(1) Hatt-i-Uthmani (2) Hatt-i-Humayun
3) Hatt-i-Sharif Gulhane (4) Hatt-i-Sulayman
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42) Majma al-Bahrain was authored by



(1) Bagqi Billah (2) Shaikh Ahmad
3) Dara Shikoh (4) Sarmad
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43) The Islamic academic curriculum, known as ‘Dars-i-Nizami’ - was begun in the reign of
(1) Jahangir (2) Shah Jahan
3) Aurangzeb (4) Shah Alam
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44) The author of Muntakhab-al-Tawarikh is
(1) Abdul Qadir Badauni (2) Fathullah Shirazi
3) Abul Fazl (4) Minhaj Siraj
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45) The smallest unit in the Sher Shah’s administration was



(1) Zilla (2) Sarkar
3) Pargana (4) Gaun
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46) The first Afghan ruler in India was
(1) Muhammad Bin Qasim (2) Qutbuddin Aibak
3) Bahlol Lodi (4) Babur

(1) e e e (2) FIFEA T
(3)  =Eede = E (4) =

[Question ID = 1349][Question Description = Q46_ArabCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5393]
2.2

[Option ID = 5394]
3.3

[Option ID = 5395]
4. 4

[Option ID = 5396]

47) Ethnically the Khaljis were
(1) Arabs (2) Mongols
3) Turks (4) Berbars

(1) = (2) wmE
3 T @)

[Question ID = 1350][Question Description = Q47_ArabCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5397]
2.2

[Option ID = 5398]
3.3

[Option ID = 5399]
4. 4

[Option ID = 5400]

48) Hauz-i-Shamsi, a large water reservoir was constructed to meet the needs of Delhi citizens by

(1) Iltutmish (2) Sikander Lodi



3) Akbar (4) Bahadur Shah Zafar

(il o) -

g 1 %aal il Y F F [ AN -u-I A G SeneE # A e

(1)  segam= (2) Toepar =&
(3) ST (4) SEEENE ATFE

[Question ID = 1351][Question Description = Q48_ArabCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5401]
2.2

[Option ID = 5402]
3.3

[Option ID = 5403]
4. 4

[Option ID = 5404]

49) Origin of Mappilla Muslim community of Kerala is
(1) Conversion of Local upper caste
(2) Settlements of Arab traders
(3) Marriages of Arab Muslims with upper caste Nair women

(4) Sayyids of Arabia

e = Ay AT THSE H I2H 7

(1) T/ == =i F7 T

(2) 37" wOEE F g "

(3) = WG I A AR F WG SR YT ]  faaE 4@
(4) @A TR

[Question ID = 1352][Question Description = Q49_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5405]
2.2

[Option ID = 5406]
3.3

[Option ID = 5407]
4. 4

[Option ID = 5408]

50) Noted Muslim Sufi Scholar Muhibbullah Allahabadi belonged to the
(1) Qadri sufi order (2) Subharwardi Sufi order
3) Chishti sufi order (4) Nagshbandi sufi order

utag gieem gft fgm gt seemE! #1 gag 8 9 e ar?

(1) ==t gl e (2) FerrEEl g e
(3)  fawd gfi fo=tEen (4) TFFomEE g e

[Question ID = 1353][Question Description = Q50_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5409]
2.2

[Option ID = 5410]
3.3

[Option ID = 5411]
4. 4

[Option ID = 5412]



51) Two of the copies of the Quran prepared by third caliph, Uthman bin Affan, to various cities of the caliphate are
extant in

(1) Makkah and Madina (2) Tashkent and Istanbul

3) Istanbul and Cairo (4) Cairo and Damascus

HiE T T o9 AFEE g e 6 Tt s # 9st 1 F0e B uiem 9 F@ g1 uian s W

HI9E 7 -
(1) w= SR AT (2) g S e §
(3)  EATgE A FiiET (4) 0 #in sfhes |

[Question ID = 1354][Question Description = Q51_ArabCulture_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 5413]

2.2

[Option ID = 5414]

3.3

[Option ID = 5415]

4. 4

[Option ID = 5416]

52) Tadabbur-e-Quran is originally based on the thoughts of

(1)
(3)

Shah Waliullah (2) Sir Syed Ahmad Khan
Jamaluddin Afghani (4) Hamiduddin Farahi

FES-U-F0H g &9 | e o w st 27

(1)

(3)

e T (2) TR HE TER
TETER AT (4) FHER =E

[Question ID = 1355][Question Description = Q52_ArabCulture_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 5417]

2.2

[Option ID = 5418]

3.3

[Option ID = 5419]

4. 4

[Option ID = 5420]

53) Sahifa Hammam ibn Munabbih, a manuscript of Hadith, was discovered and edited in the modern time by the noted
scholar

(1) Dr. Mustafa al-Azmi (2) Dr. Muhammad Hamidullah

3) Dr. Zia al-Rahman al-Azmi (4) Maulana Habib al-Rahman al-Azmi

frefafaa 2 @ snuts == & e Tem fgm 3 =23 i sfal ‘w5t e 3= s’ i s

i 317 FHE T

(1)

(3)

ST, GEAE] - AT (2) =i 97E FHEEE
=7, 5 39 wEm o 1w s (4) T FeiE TEAE A - AT

[Question ID = 1356][Question Description = Q53_ArabCulture_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 5421]

2.2

[Option ID = 5422]

3.3

[Option ID = 5423]



4. 4
[Option ID = 5424]

54) The one who was not a student of Imam Malik
1) Muhammad bin Ahmad bin Rushd (2) Abdullah bin Wahb
3) Asad bin Furat (4) Abdur Rahman bin Qasim

fefeifiad § O 14 S gfei® F1 97 T8 97

(1)  Hewe o9 w1mg fod o (2) wmag o Te
(3)  Hz-Tad wd (4) rgizae o Fiiom

[Question ID = 1357][Question Description = Q54_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5425]
2.2

[Option ID = 5426]
3.3

[Option ID = 5427]
4. 4

[Option ID = 5428]

55) Burhanuddin al-Marghinani is the author of
(1) Kitab al Khiraj (2) Kitab al Amwal
3) Al-Hidayah fi Sharh-i-Bidayah al-Mubtadi (4) Bidayah al Mujtahid

SRR "UiAET e o 2 7

(1)  TraEs g (2) TFaEd FA9aE
(3)  HAA-TezmATE! TEiE-TaeEEegsaal (4) TEEEa ek

[Question ID = 1358][Question Description = Q55_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5429]
2.2

[Option ID = 5430]
3.3

[Option ID = 5431]
4. 4

[Option ID = 5432]

56) ‘Fatawa Tatar Khaniya’ was authored by

(1) Tatar Khan (2) Sharaf Muhammad Atai
3) Alim bin Ala Indrpati (4) Ziauddin Barni

‘AT AR e e T o e

(1)  7@n = (2) IF GRS AT
(3)  wATeiw fa ¥l Seadia (4) TFar=Em ==

[Question ID = 1359][Question Description = Q56_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5433]
2.2

[Option ID = 5434]
3.3

[Option ID = 5435]
4. 4



1.

[Option ID = 5436]

57) The prefixal name of the renowned philosopher al-Farabi is
(1) Abu Hamid (2) Ali ibn Ahmad
3) Abul Farid Ahmad (4) Abu Nasr

AIEE OF AA-FWE T H TEd 1 Al 917

(1) =9 7iieg (2) =l 31 A=A
(8)  MEel WG 3EE (@) 39T

[Question ID = 1360][Question Description = Q57_ArabCulture_SHAAN_20NOV_S1_Shift1]
1

[Option ID = 5437]

2.2

[Option ID = 5438]

3.3

[Option ID = 5439]

4. 4

1.

[Option ID = 5440]

58) The great philosophical work ‘al-Siyasah al-Madaniya’ was written by
(1) Ibn Sina (2) al-Majusi
3) al-Razi (4) al-Farabi

() = Em (2) =1 T
(3) =T T (4) =151 TEE

[Question ID = 1361][Question Description = Q58_ArabCulture_SHAAN_20NOV_S1_Shift1]
1

[Option ID = 5441]

2.2

[Option ID = 5442]

3.3

[Option ID = 5443]

4. 4

1.

[Option ID = 5444]

59) The scholar whose translation of the Hindu works was responsible for making the numerals known to Islam was
(1) al-Khwarizmi (2) al-Fazari

3) Jarir ibn Hayyan (4) Abul Qasim al-Iraqi

ST N HEA A 2 74 fomg 71 % R # wE 5 fagm T e e

(1) st (2) FF-FAR
(8) TR 3= 2=AN (4) =19 FIEH A S

[Question ID = 1362][Question Description = Q59_ArabCulture_SHAAN_20NOV_S1_Shift1]
1

[Option ID = 5445]

2.2

[Option ID = 5446]

3.3

[Option ID = 5447]

4. 4

[Option ID = 5448]



60) The Qarmatians had their head quarters near Kufah named as
(1) Dar al-Hikmah (2) Bayt al-Hikmah
3) Dar al-Hijrah (4) Dar al-Nadwa

FATG 1 FH F ke A G A v

(1) =& fewm (2) g Tewm
(3) =@ fEsw (4) @A TG

[Question ID = 1363][Question Description = Q60_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5449]
2.2

[Option ID = 5450]
3.3

[Option ID = 5451]
4. 4

[Option ID = 5452]

61) The book ‘Minhaj al-Sunna al-Nabawiyya’ was written in opposition to Imam theologian Allama al-Hilli
(1) Imam Bukhari (2)  Al-Maturidi
3) Ibn Taymiyya (4) Al-Mawardi

T g w1 At i = A o o sgmn de-Tegt o oy 9 A ot

(1) =A™ Frl (@) = Al

(3) T afmEn (4) = A

[Question ID = 1364][Question Description = Q61_ArabCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5453]
2.2

[Option ID = 5454]
3.3

[Option ID = 5455]
4. 4

[Option ID = 5456]

62) The Suhrawardi Sufi order was established in India by
(1) Moinuddin Chishti (2) Abu lshaq Shami
3) Nizamuddin Awliya (4) Shaykh Bahauddin Zakariyya

I H GetrEd] gl wERy i T e g o g

(1)  =EEE fE (2) 319 TE=TE T
(3)  TAwmEE sifern (4) ¥Ivg SETIEA FEET

[Question ID = 1365][Question Description = Q62_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5457]
2.2

[Option ID = 5458]
3.3

[Option ID = 5459]
4. 4

[Option ID = 5460]



63) ‘Qanun al-Masudi’ is a great work of al-Beruni that deals with
(1) Astronomy (2) Mathematics

3) Geography (4) Chemistry
A forest it 9EH Fi w9 T A 389 E

P

(1) =T T (2) i
(3) T @) T T

[Question ID = 1366][Question Description = Q63_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5461]
2.2

[Option ID = 5462]
3.3

[Option ID = 5463]
4. 4

[Option ID = 5464]

64) The founder of the ‘Batiniyya Sect’ was
(1) Hasan al-Sabah (2) Abdallah ibn Maymun al-Qaddah
(3) Hamadan Qarmat (4) Adallah b. Azraq

et TR e e A7

(1) =@ FE-u (2) ¥TEg 3 W 9 R
(3) AR wEd (@) g E AT

[Question ID = 1367][Question Description = Q64_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5465]
2.2

[Option ID = 5466]
3.3

[Option ID = 5467]
4. 4

[Option ID = 5468]

65) The famous book ‘Social Justice in Islam’ was authored by
(1) Ali Shariati (2) Ahmad Amin
3) Sayyid Qutb (4) Qasim Amin

g A T S T e 6 HE@E b

(1) A T (2) 3TEHE FHE
(3) =R FIE (4) wrEE wHE

[Question ID = 1368][Question Description = Q65_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5469]
2.2

[Option ID = 5470]
3.3

[Option ID = 5471]
4. 4

[Option ID = 5472]



66) Muhammad Ali Pasha, the founder of modern Egypt, was born in the year
(1) 1760 A.D. (2) 1769 A.D.
3) 1775 A.D. (4) 1780 A.D.

amgt | F Feim geg ol wen w1 5 R A gan

(1) 1760%. (2) 1769%.

(8) 1775%. (4) 1780%.

[Question ID = 1369][Question Description = Q66_ArabCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5473]
2.2

[Option ID = 5474]
3.3

[Option ID = 5475]
4. 4

[Option ID = 5476]

67) Who coined the term ‘Gharabzadgi’?
(1) Jalal al-e Ahmad (2) Ayatollah Khomeini
(3) Ali Shariati (4) Kasravi Tabrezi

TRl Ies TR a7

(1) =oE SAE-1-37308 (2) e g
(3) ot @) e e

[Question ID = 1370][Question Description = Q67_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5477]
2.2

[Option ID = 5478]
3.3

[Option ID = 5479]
4. 4

[Option ID = 5480]

68) Shaikh Badiuzzama Nursi was a/an
(1) Arab (2) Turk
3) Kurd (4) Iranian

91 aEE T T R g E 97

=

(1) @Em @ T
3 (4) A

[Question ID = 1371][Question Description = Q68_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5481]
2.2

[Option ID = 5482]
3.3

[Option ID = 5483]
4. 4

[Option ID = 5484]

69) Muhammad Abduh was born in the year



(1) 1830 A.D. (2) 1840 A.D.
(3) 1849 A.D. (4) 1859 A.D.

TETHE TSR I A0 R AT gaTl ¢

(1) 1830s%. (2) 1840z
(3) 18497 (4) 1859%.

[Question ID = 1372][Question Description = Q69_ArabCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5485]
2.2

[Option ID = 5486]
3.3

[Option ID = 5487]
4. 4

[Option ID = 5488]

70) Observe the following statements :
(A) Abd al-Rahman al-Kawakibi stood for the separation between religion and state
(B) ‘Tahrir al-Mar‘a’ was written by Sayyid Qutb
©) Muhammad b. Abd al-Wahhab was born in 1800 A.D.
(D) The book ‘Asar al-Sanadid’ was written by Sir Syed Ahmad Khan

Choose the correct answer from the options given below:

(1) (A) and (B) Only (2) (B) and (D) Only
3) (A) and (D) Only (4) (C) and (D) Only
TR aFesl W T

(A) 155 TAE AF-FATHE 9 F T T T T TH F TEHE 4
(B) Tt ma i = 7S FaE A A
(C)  =eme fa. a7sge 9= =1 <=9 1800 3. ¥ 77

(D)  HATHR 3T TATEIE A9 T i T T HAE HEAE T A o A

= e v ol | 9 OF 3w 999 Fifan
(1)  Fa (A) 3 (B)
(2) T (B) 31 (D)
(3) T4 (A) FW (D)

(4) === (C) # (D)
[Question ID = 1373][Question Description = Q70_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5489]
2.2

[Option ID = 5490]
3.3

[Option ID = 5491]
4. 4

[Option ID = 5492]



71) Identify the incomplete books on Tafsir :
(A) Tafsir al-Quran by Syed Ahmad Khan
(B) Tafhim al-Quran by Abul Aala Maududi
©) Tarjuman al-Quran by Abul Kalam Azad
(D) Tadabbur-e-Quran by Amin Ahsan Islahi
(E) Tafsir al-Manar by Rashid Rida
Choose the correct answer from the options given below:
(1M (A), (B), (C) Only
(2) (A), (C), (E) Only
3) (B), (C), (D) Only
(4) (A), (D), (E) Only

ARHT 9 S T i uEEE i)

(A) T=E EEE o1 Hl TEHEE -

(B) 3T N Gigdl i TEEIE -

(C) 3151 HeA AT=1E i dodTe — FH

(D) A EEA TeEl Hl ageEi-T-FH

(E) iz fan i awdieed - 70

I 2w 7o el § | "R 39 R =99 FIAT
(1) F= (A). (B) 3 (C)
@  F= (A). (C) R (B)
(3)  Faw (B). (C) i (D)
4)  Fa (A). (D) 3 (E)

[Question ID = 1374][Question Description = Q71_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5493]
2.2

[Option ID = 5494]
3.3

[Option ID = 5495]
4. 4

[Option ID = 5496]

72) Read the following :
(A) Marwan | was the son of Abd al-Malik
(B) Abu Sufyan’s wife was Hind bint of Utba
©) Damascus was the capital of Abdullah ibn Zubayr’s rule
(D) Hind’s son Hanzalah was killed at the battle of Badr
(E) The mother of Abdullah ibn Zubayr was Asma
Choose the correct answer from the options given below:
(1) (B), (D) and (E) Only
(2) (A), (C) and (E) Only
3) (B) and (C) Only



(4)  (C) (D) and (E) Only

(A) waA [ #1s2 e -Hie #1 =521 91|

(B) 9 gFE =i sidl fag g i sE1 i)

(C)  =fvs sTegg® 351 T = TE | Tear o)
(D) &g =1 =i &1 o 5z & gg | =W |

(E)  ¥sgg =1 9o 1 | o off|

fr= f20 Tu a8 | wE 30w 9 A
(1) == (B). D) 3 (E)
(2)  Fa4 (A), (C) w7 (B)
(3) =4 (B) 3% ()
4  F=4 (C). (D) 51 (B)
[Question ID = 1375][Question Description = Q72_ArabCulture_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 5497]
2.2

[Option ID = 5498]
3.3

[Option ID = 5499]
4. 4

[Option ID = 5500]

73) Match List | with List 1l :

List | List Il
(A) Shah Waliallah ) Al-Saequl al-Islami
(B) Abdur Rehman al-Kawakibi () Tafseer al-Manar
(C) Rashid Rida (1)  Al-Fauzul Kabir
(D) Badiuzzama Said Nursi (IV) Ummul Qura

Choose the correct answer from the options given below:
(1 (A)-(), (B)-(1), (C)-(1V), (D)-(1)
(2)  (A)-(1V), (B)-(I), (C)-(l), (D)-(1)
(3)  (A)-(1n), (B)-(1V), (C)-(I1), (D)-(1)
(4)  (A)-(D, (B)-(1), (C)-(1V), (D)-(1N)

11 % =1y gHI-I1 #1 faerm fifae
-1 T -1
(A) = FEEgE D o= HsFa AT
(B) 3TogieA™ SAI-FaThmE 1) TEER AF T
(C) iz f (III) 3t FigeT ol

(D) wEEFaAl 7Eg T IV) 399 F



= fgu o faheat | @ Td 3R w1 =39 Fifw

(1)  (A)-D. (B)-(ID). (C)-AV). M)-(D
(2)  (A)-AV). (B)-dI). (C)-(IID). (D)-(D
(3)  (A)-(ID. B)-AV). (O)-(II). (D)-(D)
@ (A-D. B)-IID). (O)-(IV). (D)-ID)
[Question ID = 1376][Question Description = Q73_ArabCulture_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 5501]
2.2

[Option ID = 5502]
3.3

[Option ID = 5503]
4. 4

[Option ID = 5504]

74) Match List | with List Il :

List | List 1l
(A) Jami al-Bayan fi uloom al-Quran ) Muhammad bin Umar bin Hasan
(B) Mafatih al-Ghaib ()  Muhammad bin Jarir bin Yazid

(C) Anwar al-Tanzil wa Asrar al-

X (l) Mahmud bin Umar
Tawil

(IV) Abdullah bin Umar bin
Muhammad

(D) Al-Kashshaf an Haqaiq al-Tanzil
Choose the correct answer from the options given below:
(1) (A)-(), (B)-(), (C)-(1V), (D)-(1lN)

(2)  (A)-(1), (B)-(IV), (C)-(1), (D)-(1N)
(3)  (A)-(n), (B)-(1), (C)-(ID), (D)-(1V)

(4)  (A)-(D), (B)-(1), (C)-(1V), (D)-(1N)

-1 % =y g1 1 faerm it -
-1 Tl 11
(A) I - 99 F IHA - FH (M geme fom 3w fo1 254
(B) TR - T () ¥z fom =R fom =ofie
(C) I ame — T 91 AWEA — aA (IIT) 7=q7 fom 3
(D) HAA-FIIF 3 FHI0H T qA (IV) 3Tegg o 3 fom geome

= Tou TTu ekt | | @R IO A 95 AT

(1 A-dD. B)-(D. (O)-(IV). (D)-(II)
2 (A)-aD. (B)-Av). (C)-(). (D)-(IIL)
(3)  (A)-dID. B)-D. (C)-(ID. (D)-AV)
@ (A-D. B-m). (O)-1V). (D)D)

[Question ID = 1377][Question Description = Q74_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1



[Option ID = 5505]
2.2

[Option ID = 5506]
3.3

[Option ID = 5507]
4. 4

[Option ID = 5508]

75) Match List | with List Il :

List | List 1l
(A) Husayn b. Sulayman 0] Fatimids
(B) Abdallah b. Yusuf () Ayyubids
(C) al-Malik al-Nasir (1) Idrisids
(D) Yahya b. Muhammad (IvV) Safavids

Choose the correct answer from the options given below:
(M (A)-(V), (B)-(1), (C)-(1), (D)-(lI1)
(2)  (A)-(D, (B)-(lin), (C)-(I), (D)-(IV)
(3)  (A)-(1m), (B)-(IV), (C)-(11), (D)-(1)
4)  (A)-(), (B)-(h, (C)-(lin), (D)-(IV)

Jeft-1 & arer -1 w1 frerrer Hifsto :

x| Sl
(A)  gor ot Fetamor (1) wrfeoft
(B)  sregem fawor 1w (1) orzyeit
(C) srcr-aAferd -3 () scfeft
(D)  urea oot Foaac (V) swdi

ofi o s1u fesedl & A A8 IR BT WRI6l BT :
(1) (A)-(IV), (B)-(1), (C)-(I), (D)-(1IM)
(2)  (A)-(D, (B)-(1n), (C)-(), (D)-(IV)
(3)  (A)-(lm, (B)-(IV), (C)-(I), (D)-(1)
(4)  (A)-(I), (B)-(1), (C)-(l), (D)-(IV)

[Question ID = 1378][Question Description = Q75_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5509]
2.2

[Option ID = 5510]
3.3

[Option ID = 5511]
4. 4

[Option ID = 5512]

76) Match List | with List Il :

List | List Il
(A) Samanids () 868 A.D. - 905 A.D.
(B) Aghlabids () 974 A.D. - 999 A.D.
(C) Tulunids (1) 800 A.D. - 909 A.D.
(D) Ayyubids (IV) 1169 A.D. - 1252 A.D.

Choose the correct answer from the options given below:

(1) (A)-(), (B)-(I1), (C)-(ln), (D)-(IV)



(2)  (A)-(, (B)-(ln), (C)-(), (D)-(IV)
(3)  (A)-(1n, (B)-(I), (C)-(1V), (D)-(1)
(4)  (A)-(1v), (B)-(l), (C)-(1), (D)-(1)

Jeft-1 & arer -1l oot fretrer Hifste :

| il
(A) el (I) 868 ¢ 31905 & aw
(B)  swrcidt (1) 974 € 2999 & aw
(C) aggeht (I1) 800 £. 3 909 £. aw
(D) oreht (IV) 1169 £ 3 1252 & aw

it fou s1e frpeul 9 A Al IR BT a6l HIfSIE ¢
(1) (A)-(), (B)-(I1), (C)-(ln), (D)-(IV)
(2)  (A)-(I, (B)-(lN), (C)-(), (D)-(IV)
(3)  (A)-(1n, (B)-(I1), (C)-(1V), (D)-(1)
(4)  (A)-(V), (B)-(1), (C)-(I), (D)-(1)

[Question ID = 1379][Question Description = Q76_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5513]
2.2

[Option ID = 5514]
3.3

[Option ID = 5515]
4. 4

[Option ID = 5516]

77) Match List | with List Il :

List | List Il
(A) Sayyids () 1290 - 1320 A.D.
(B) Tughlags () 1451 - 1526 A.D.
(C) Khaljis () 1320 - 1413 A.D.
(D) Lodis (IV) 1414 - 1451 A.D.

Choose the correct answer from the options given below:
(1) (A)-(I), (B)-(IV), (C)-(1), (D)-(1)
(2)  (A)-(D, (B)-(1n), (C)-(), (D)-(IV)
(3)  (A)-(IV), (B)-(1l), (C)-(I), (D)-(1)
(4)  (A)-(V), (B)-(1), (C)-(), (D)-(1N)

Jelt-1 & arer -1 w1 frerrer Hifste :

xei-1 Sl
(A)  3rrc omer () 1290-1320%
(B) quIers 9mmter () 1451 - 1526 &
(C) Racrsh emrer () 1320 - 1413 &
(D) A omrar (IV) 1414 - 1451 &

it fou o1 frpeul 3 A & IR BT a6l HIfSIE ©
(1 (A)-(), (B)-(V), (C)-(l), (D)-(1)
(2)  (A)-(D, (B)-(lin), (C)-(IN), (D)-(IV)
(3)  (A)-(IV), (B)-(1I), (C)-(I), (D)-(1)



(4)  (A)-(IV), (B)-(11), (C)-(), (D)-(1N)

[Question ID = 1380][Question Description = Q77_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5517]
2.2

[Option ID = 5518]
3.3

[Option ID = 5519]
4. 4

[Option ID = 5520]

78) Match List | with List Il :

List | List Il
(A) Jalauddin Rumi ) Al-Itqan fi Ulum al Quran
(B) Ibn al-Arabi () Al-Fawz al-Kabir fi usul-al-Tafsir
(C) Jalauddin al-Suyuti ()  Masnavi
(D) Shah Waliullah (IV) Futuhat - Makkiyya

Choose the correct answer from the options given below:
(M (A)-(D, (B)-(I), (C)-(li), (D)-(IV)
(2)  (A)-(V), (B)-(lln), (C)-(1n), (D)-(1)
(3)  (A)-(1n), (B)-(1V), (C)-(), (D)-(1N)
(4) (A, (B)-(IV), (C)-(1), (D)-(lI)

gfi-1 &5 arer -1l o1 Brermer Hifsie ¢

el R eigl
(A)  renggélor Fait (1) 3ret scacprol Bl it 3ict G3irel
(B)  sooget areil (1) T wiger wdk BIsger awilz
(C)  STetmet 31T IRt () e
(D) 9onE Gcll Iecis (IV) wgeE afdwn

Sfia o s1u fmeul 3 A A8t 3T @I wRI6T HifSTT :
(1) (A)-(D, (B)-(IN), (C)-(i), (D)-(IV)
(2)  (A)-(IV), (B)-(11), (C)-(I), (D)-(1)
(3)  (A)-(ln), (B)-(IV), (C)-(1), (D)-(I)
(4)  (A)-(I), (B)-(IV), (C)-(D, (D)-(1IM)

[Question ID = 1381][Question Description = Q78_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5521]
2.2

[Option ID = 5522]
3.3

[Option ID = 5523]
4. 4

[Option ID = 5524]

79) Match List | with List 11 :

List I List Il
(A) “Farewell” Pilgramage ) 656 - 661 A.D.
(B) Battle of Uhud () 610 A.D.
(C) Madinah is abandoned as capital (i) 625 A.D.

(D) Muhammad has first revelation

(Wahy) (IV) 632 A.D.



Choose the correct answer from the options given below:
(1) (A)-(D, (B)-(IN), (C)-(in), (D)-(IV)
(2)  (A)-(I), (B)-(1), (C)-(IV), (D)-(1In)
(3)  (A)-(IV), (B)-(1I), (C)-(1), (D)-(I1)
(4)  (A)-(lm), (B)-(IV), (C)-(I)), (D)-(1)

Jeft-1 & arer -1 w1 frerrer Hifste :

i1 il
(A) ga«r sssigd faer () 656-661¢%.
(B) 3w 3s iy 610%
(C) F<Slol I ASTEGI U AATUA Bloll (my 6254
(D) FewG (A1) W= g ‘adl’ (Iv) 632%.

il fou o1 frpeul 3 2 & 3R BT a6l HIfSIE ¢
(1 (A)-(D, (B)-(I), (C)-(li), (D)-(IV)
(2)  (A)-(), (B)-(h, (C)-(1V), (D)-(li)
(3)  (A)-(V), (B)-(l), (C)-(1), (D)-(In)
(4)  (A)-(lm), (B)-(IV), (C)-(ID), (D)-(1)

[Question ID = 1382][Question Description = Q79_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5525]
2.2

[Option ID = 5526]
3.3

[Option ID = 5527]
4. 4

[Option ID = 5528]

80) Arrange the following travellers, who visited India, in chronological order
(A) Abd al-Razzak

(B) Abu al-Fida

(C) Ibn Battuta

(D) Masudi

Choose the correct answer from the options given below:

M (A), (B), (C), (D)

(2) (©), (D), (A), (B)

(3) (B), (A), (D), (C)

(4) (D), (B), (C), (A)

forgotifese feRIIDY MR 3P0l o Ml A caafderd bifse:
(A) g oI

(B)  3rge fiser

(C)  sootaqan

(D)  w@

il fou o1 frpeul 3 A &l IR BT TRI6T HIfSIE ¢
(1) (A), (B), (C), (D)

(2) (©), (D), (A), (B)

(3) (B), (A), (D), (C)

(4) (D), (B), (C), (A)



[Question ID = 1383][Question Description = Q80_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5529]
2.2

[Option ID = 5530]
3.3

[Option ID = 5531]
4. 4

[Option ID = 5532]

81) Arrange the following Ottoman rulers in chronological order
(A) Bayazid |
(B) Muhammad Il
(C) Selim Il
(D) Sulayman the Magnificent
Choose the correct answer from the options given below:
M (A), (B), (C), (D)
(2) (A), (B), (D), (C)
3) (B), (D), (C), (A)
(4) (B), (C), (D), (A)

FeAfefiga SeaT wE 1 HAEET T

(A) = EEREl
B) I
(C) ==im II

(D) TeEH 7EE

Fr= fau o famped § @ wE o w = fifw

(1  A).[B).(C). D)
@  @A. 3. D). ()
(3 (B. D). . @A)

4  (B).(©. D)
[Question ID = 1384][Question Description = Q81_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5533]
2.2

[Option ID = 5534]
3.3

[Option ID = 5535]
4. 4

[Option ID = 5536]

82) Arrange the following in chronological order
(A) Idrisids
(B) Ayyubids
(<€) Ghaznavids
(D) Mamluks



(E) Khwarizm Shahs

Choose the correct answer from the options given below:
(1) (A), (B), (C), (D), (E) (2) (A), (C), (E), (B), (D)
(3) (B), (C), (D), (E), (A) (4) (C), (D), (E), (A), (B)

Fr=fafas = FeEaaEr @

oon

(&) sl

(B) g

(C) =

D) ==

(E) wEnisH wE

Hret fam 1o famedt § @ wE I =g i

1 (A ®B).(C). D). (E)
2y A (0. (E). B). D)
3 (B). (C). (D). (E). (4)

@  (C). D), (E). (A). (B)
[Question ID = 1385][Question Description = Q82_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5537]
2.2

[Option ID = 5538]
3.3

[Option ID = 5539]
4. 4

[Option ID = 5540]

83) Arrange the following authors of Tafsir in chronological order
(A) Rashid Rida
(B) Syed Ahmad Khan
©) Syed Qutb
(D) Abul Kalam Azad
Choose the correct answer from the options given below:
M (A), (B), (D), (C) (2) (B), (A), (D), (C)
3) (D), (©), (A), (B) (4) (©), (A), (B), (D)

Ffafad awER & g F FE AR FHAY FHiw
(&) e fa

(B) #9g A @1

(C) #9 Faw

(D) A9A FoH ATAG



(1 A.B). D). (©)
20 (B).@A). D). ©C)
(3 (D). A.®B)

4 (). (A). ([B). (D)

[Question ID = 1386][Question Description = Q83_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5541]
2.2

[Option ID = 5542]
3.3

[Option ID = 5543]
4. 4

[Option ID = 5544]

84) Arrange the following Umayyd rulers of Spain in chronological order
(A) Muhammad |
(B) Abd al-Rahman al-Dakhil
Q) Al-Hakam |
(D) Abd al-Rahman Il
Choose the correct answer from the options given below:
M (B), (C), (D), (A)
(2) (D), (A), (C), (B)
3) (B), (D), (C), (A)
(4) (©), (B), (A), (D)

@)  FEEe
(B) FmeEAE e - FEd
(C) s@-=#a1

(D) wEEA-TwEE IO

Hi= fou v el | @E 3 #1999 i

(1  B. (). D). A
2 (D). A). ©). (B)
3  (B.M). ©C). A
@  (C.®B). A. D
[Question ID = 1387][Question Description = Q84_ArabCulture_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 5545]
2.2

[Option ID = 5546]
3.3

[Option ID = 5547]
4. 4



[Option ID = 5548]

85) Arrange the following early jurists in chronological order
(A) Ali bin Hazm

(B) Abdullah bin Masood

(%) Ahmad bin Hanbal

(D) Numan bin Thabit

Choose the correct answer from the options given below:

M (B), (D), (C), (A)

() (©), (D), (A), (B)

3) (D), (©), (B), (A)

(4) (B), (), (D), (A)

frefeifiga =i a1 I F1e ATER wHaE Hifa)

(A) el 59 EH
B) A=EE AT
(C) HAEHAG 551 B9

(D) T9H fa= =rfem

Hi= 35U o el B H wE IO =9 i

(1)  B).MD.(©). @&
2 (€. (D). A). B
(3) (D). (). B). (A
4  (B).(©C). D). @A)

[Question ID = 1388][Question Description = Q85_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5549]
2.2

[Option ID = 5550]
3.3

[Option ID = 5551]
4. 4

[Option ID = 5552]

86) Arrange the following Umayyad Caliph in chronological order
(A) Al-Walid Il

(B) Umar Il

(<€) Marwan

(D) Abd al-Malik

(E) Mu’awiyah Il

Choose the correct answer from the options given below:

M (E), (C), (D), (B), (A)

(2) (A), (B), (C), (D), (E)

3) (B), (C), (A), (D), (E)



(4) (©), (D), (B), (A), (E)
(A) AqA-TAE 1T
B w1
(C) HEH
(D) #1553 AlTF

(E)  gamfeans II

A= fu o el | | @A IO 1 99 A

(L (E).(C). (D). (B). (4)
2) (A (B). (C). D). (E)
(3)  (B).(C). (A). (D). (E)
(49 (O). (D). B). A. (E)

[Question ID = 1389][Question Description = Q86_ArabCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5553]
2.2

[Option ID = 5554]
3.3

[Option ID = 5555]
4. 4

[Option ID = 5556]

87) Arrange the following dynasties in order they appeared
(A) Nasirids

(B)  Abbadids

©) Al-Muwahhids

(D) Al-Murabits

Choose the correct answer from the options given below:
M (A), (B), (C), (D)

(2) (D), (A), (C), (B)

(3) (D), (B), (A), (C)

(4) (B), (D), (C), (A)

(A) T
(B)
(C)  FA=-gAEEA
(D) AT

4
1]

1 f3u o faeai 8 | wE I == i

o



(1) @A).B). (). D)
(2) (D). (A). (C). (B)
3) (D). B, A (©)
4  (B).D). (O A
[Question ID = 1390][Question Description = Q87_ArabCulture_SHAAN_20NOV_S1_Shift1]

1.1

[Option ID = 5557]
2.2

[Option ID = 5558]
3.3

[Option ID = 5559]
4. 4

[Option ID = 5560]

88) Statement | : In form, materials and decoration, the Dome of the Rock belongs to the tradition of late Antique and
Byzantine architecture.

Statement Il : The greatest Umayyad builder was Mu’awiyah I, son of Yazid I, whose rule was one of the comparative peace
and opulence.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement | and Statement Il are true (2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false (4) Statement | is false but Statement Il is true

FE I: A =0, Ol S oEEe |, Fea o1 T Wadl ureE aEE e £ W g e 2

Foe I1:  gowfamn 1L 75fie [ 1 21 o1 571 Hemad 9o ot a1, 5@ o aom e =9 9 afago

3R HYg WEET § T A7

ITF HYE * ATAS H, A= 158 T el § 3 e 39 % 991 HiA

(1) =¥ I 31 Feq [ =41 979 &
(2) w1 %R F9E [ 241 3993 &
(3) == 1o &, wfed %9 I 579 2

(4)  FH I wEE 2, o w9 2
[Question ID = 1391][Question Description = Q88_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5561]
2.2

[Option ID = 5562]
3.3

[Option ID = 5563]
4. 4

[Option ID = 5564]

89) Statement | : The story that by the caliph’s order ‘Amr for six long months fed the numerous bath furnaces of the city
with the volumes of Alexandrian library is one of those tales that make good fiction but bad history.
Statement Il : The great Ptolemaic Library was burn as early as 48 B.C. by Julius Caesar.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement | and Statement Il are correct (2) Both Statement | and Statement Il are incorrect
(3) Statement | is correct but Statement Il is incorrect (4) Statement | is incorrect but Statement Il is correct

. A | - - - - e i - - “ H i
SEFCEPCRLATR, i PO (o] A e R e e e s I R T TR A




T L. MO TEGITIH VISR AANTETH O SRSl 8 owRA T 2o WVPE NI A et S o TIoIT Ml il IS AT M

fou seFAtz s & Twaml # 9T oen § Se T - 39 A 8§ uE 2 oAl

=1 Tt 5 FaEH Tl Tl 2 w90 sl

FYA I[:  HaM YZaHicF Aiesi] Jioad =it & gaT 48 S61 94 & @R H e 75 o
SUURE YA % ATl 4, = 50 T foEmen § 8 gew 39w I R 94 i

(1) == I =k %A L2 99 2
(2) A I 3R wyE L2 7o 2
(8) e L= B, <t A I ea 2

(4) w9 Ied 2, i #eE a8 2

[Question ID = 1392][Question Description = Q89_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5565]
2.2

[Option ID = 5566]
3.3

[Option ID = 5567]
4. 4

[Option ID = 5568]

90) Statement | : In 610, the Prophet met at ‘Aqabah, on the pilgrimage with a handful of converts from Yathrib; the next
year they returned with a few more and not only declared themselves Muslims but pledged themselves to Obey Muhammad
in any wholesome command.

Statement Il : In 628, the Prophet entered peacefully at the head of the annual Pilgrimage into his new religious capital,
Makkah. This proved his last visit and was therefore styled “The Farewell Pilgrimage”.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement | and Statement Il are true (2) Both Statement | and Statement Il are false
(3) Statement | is true but Statement Il is false (4) Statement | is false but Statement Il is true

FA1: 610 T TR 3 o O TUAE W AW 50 FP UHERG @1 & GelTha | 3 o1 J A

HAFIAT = g 1 w9y o =i

FA I: 628 |, TR A Wiayds 191 72 91HF TAUHl TE F W w9 H 0E9 w1, wsh
] A = G@iisa w2 (F gE 2) S satew ), e w9 % w9 H geiad e

|
I HYE o AT H, A= 6 T Een d O 5E 39 w0 =9 $iiA

(1) == I il %= [ 241 ged 2

(2)  wwA I ¥R w9 [ EH 989 7

(3) = 1T 2, = w97 1L 59577 2
(4) T ¥EE E, A w11 EF 2

[Question ID = 1393][Question Description = Q90_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1



[Option ID = 5569]
2.2

[Option ID = 5570]
3.3

[Option ID = 5571]
4. 4

[Option ID = 5572]
Topic:- 49ArabCulture_B

1) Read the following passage and answer the five question which follow :

The Andalusian scientist ibn Rumiyah undertook extensive journeys in search of plants and herbs which were not found in
his native land. He travelled to Egypt, Syria, and Iraq in the course of his itinerary and carefully recorded his observations.
Ibn al-Baytar (d. 646/1248) travelled far and wide and collected botanical specimens from different parts of the world. He
compared the flora of India and Persia with those of Greece and Spain. His work Al-Jami al-Mufradat al-Adwiyah wal-
Aghziyah, which describes fourteen hundred plants, has been acclaimed by Western scholars as a “monument of industry”.
Al-Ghafigi wrote an important work in botany, known as Kitab al-Adwiyah al-Mufradah. Ibn al-Jazzar (d. 370/980) wrote an
important book Al-Itimad fil-Adwiyah al-Mufradah, which discussed 278 simple methods of preparing medicaments and
compounds from vegetable, animal and mineral sources. The Latin translation of the book was used in medical teaching in
European universities for several centuries.

Abu Hanifah al-Dinawari (d. 282/895) compiled a comprehensive botanical lexicon known as Kitab al-Nabat (The Book of
Plants), much before Greek works on the subject were translated into Arabic. It far surpasses the works of Greek scientists,
such as Dioscorides and Theophrastus, on the subject.

According to the above passage The scientist who compared the flora of India and Persia with those of Greece and Spain
was

(1) Ibn al-Baytar (2) Al-Ghafiqi
(3) Al-Wagqidi (4) Ibn Zuhr

el AT 31 wfeETE F 39 Ol SE-gie i @i 9 e A f A 35 29 5 A6 O 9W 9|

1| 71 9=-=ar (2. 646/1248) 7 -3¢ T% a0 1 % fava % fafim avn o aEefas 7H =
0| = 9WE W F¥EE F Us-uil B geE gAE A T F Us-uie ¥ i) 36 B S-S -

HEETA He1-A5E98 dei-3F1AE | =ige Gt 9l ® au 7, 39 ufr=dt fHgel gren sme o S S
T W A S 7| s AA-wAn (2. 370/980) H vF HEcayH wiaw Aei-3lawE fee-sfaas am-

e fordl, fsmm aafa, sfen s afs wEt o 2o s g s+ i 278 @t = o

T | SH GEAE F oAled SAE H HE qAlsd ab AN favatamreEl § fafwmen e § swm e

RIEz T ]

=0 fawa W FoA F TS U TH ° FA UEd 39w e - (7. 282/805) 7 UF e
FEIfaF I FE, THEaEE-TaE (9 F gEE) w1 HEed 5] 98 Fi0 3@ A W sEesnEsy
(Diosoarides) 3% f4=Fw=a (Theophrastus) & FAH! I=1 i Fia=t § FrHl s=w |

T T % ATEE FRE AE 4 9AA I $0E & Us-uldi i g 39 AT T & Us-uiet & i

(1) 3= FF-=9aR (2) TSR
(3)  TE-aTiRd 4 z=-I=

[Question ID = 1394][Question Description = Q91_ArabCulture_SHAAN_20NOV_S1_Shift1]
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[Option ID = 5573]
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[Option ID = 5574]
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[Option ID = 5575]
4. 4



[Option ID = 5576]

2) Read the following passage and answer the five question which follow :

The Andalusian scientist ibn Rumiyah undertook extensive journeys in search of plants and herbs which were not found in
his native land. He travelled to Egypt, Syria, and Iraq in the course of his itinerary and carefully recorded his observations.
Ibn al-Baytar (d. 646/1248) travelled far and wide and collected botanical specimens from different parts of the world. He
compared the flora of India and Persia with those of Greece and Spain. His work Al-Jami al-Mufradat al-Adwiyah wal-
Aghziyah, which describes fourteen hundred plants, has been acclaimed by Western scholars as a “monument of industry”.
Al-Ghafigi wrote an important work in botany, known as Kitab al-Adwiyah al-Mufradah. Ibn al-Jazzar (d. 370/980) wrote an
important book Al-Itimad fil-Adwiyah al-Mufradah, which discussed 278 simple methods of preparing medicaments and
compounds from vegetable, animal and mineral sources. The Latin translation of the book was used in medical teaching in
European universities for several centuries.

Abu Hanifah al-Dinawari (d. 282/895) compiled a comprehensive botanical lexicon known as Kitab al-Nabat (The Book of
Plants), much before Greek works on the subject were translated into Arabic. It far surpasses the works of Greek scientists,
such as Dioscorides and Theophrastus, on the subject.

In his book, al-Jami al-Mufradat al-Adwiya Wal-Aghziyah, Ibn Baytar has described
(1) 1400 plants (2) 1850 plants
(3) 1757 plants (4) 500 plants

e e s o s s fm At m o R s T

EeTEl A 3 BAE A I uihl wSi-gieA 1 @ § I A0 H A I6E 29§ F8 9 e 4|
1| =1 sr-smaw (f2. 646/1248) 7 Zi-37 9% 7m0 1 =70 fava % fafim i o areafas 75 =
) 35H WEA ¥R FEE F Us-Ul 1 ge gAE i T F vs-uial o F| I F -
TEETA eI -AEEAE T FFEE | =igs E@ el % 4ue B, 59 uir=st fHge g SEe w0 SE ) S

T E| A= A et faEE i vE HEeaqe gEaw fodi e fhaw se-oefags se-gweE *
W § T A R s-sE-wean (B 370/980) 7 ©F HEeAH T A9 -IAR R -sEETE -

qreE o, fem aaerfa, it »in afis amt o =am R o s #1278 @ fafte = avm e

T 2| W TE F oAl AR 1 HE Tdleeal ok AU vataemest 4 fafwe few 8 smem e

TET 9]

=0 fawa w gt Fiaat # o e S 8 Fh vea 3w w e aw-fred (R 282/8905) 7 U TR
TEAfaF e F, RAEe-TEE (99 i TqE) e A 9E Fi 35 A W sEeeaEsy
(Diosoarides) 3% fo=F=a (Theophrastus) FH JAH! JHT-HT i FHicET o FTH TEa o1

T TEAE 7 A T A - -gFEE FH-3EE AR T -3FaaE 9 9o -

(1) 1400 wiai = (2) 1850 Tt =

(3) 1757 diai =1 (4) 500 grEi

[Question ID = 1395][Question Description = Q92_ArabCulture_SHAAN_20NOV_S1_Shift1]
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4. 4

[Option ID = 5580]

3) Read the following passage and answer the five question which follow :

The Andalusian scientist ibn Rumiyah undertook extensive journeys in search of plants and herbs which were not found in
his native land. He travelled to Egypt, Syria, and Iraq in the course of his itinerary and carefully recorded his observations.
Ibn al-Baytar (d. 646/1248) travelled far and wide and collected botanical specimens from different parts of the world. He
compared the flora of India and Persia with those of Greece and Spain. His work Al-Jami al-Mufradat al-Adwiyah wal-
Aghziyah, which describes fourteen hundred plants, has been acclaimed by Western scholars as a “monument of industry”.



Al-Ghafigi wrote an important work in botany, known as Kitab al-Adwiyah al-Mufradah. Ibn al-Jazzar (d. 370/980) wrote an
important book Al-Itimad fil-Adwiyah al-Mufradah, which discussed 278 simple methods of preparing medicaments and
compounds from vegetable, animal and mineral sources. The Latin translation of the book was used in medical teaching in
European universities for several centuries.

Abu Hanifah al-Dinawari (d. 282/895) compiled a comprehensive botanical lexicon known as Kitab al-Nabat (The Book of
Plants), much before Greek works on the subject were translated into Arabic. It far surpasses the works of Greek scientists,
such as Dioscorides and Theophrastus, on the subject.

The above passage says that Abu Hanifah al-Dinawari had compiled
(1) Kitab al-Maghazi (2) Kitab al-Ashjar
(3) Masalik al-Absar (4) Kitab al-Nabat
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[Question ID = 1396][Question Description = Q93_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5581]
2.2

[Option ID = 5582]
3.3

[Option ID = 5583]
4. 4

[Option ID = 5584]

4) Read the following passage and answer the five question which follow :

The Andalusian scientist ibn Rumiyah undertook extensive journeys in search of plants and herbs which were not found in
his native land. He travelled to Egypt, Syria, and Iraq in the course of his itinerary and carefully recorded his observations.
Ibn al-Baytar (d. 646/1248) travelled far and wide and collected botanical specimens from different parts of the world. He
compared the flora of India and Persia with those of Greece and Spain. His work Al-Jami al-Mufradat al-Adwiyah wal-
Aghziyah, which describes fourteen hundred plants, has been acclaimed by Western scholars as a “monument of industry”.
Al-Ghafigi wrote an important work in botany, known as Kitab al-Adwiyah al-Mufradah. Ibn al-Jazzar (d. 370/980) wrote an
important book Al-Itimad fil-Adwiyah al-Mufradah, which discussed 278 simple methods of preparing medicaments and
compounds from vegetable, animal and mineral sources. The Latin translation of the book was used in medical teaching in
European universities for several centuries.

Abu Hanifah al-Dinawari (d. 282/895) compiled a comprehensive botanical lexicon known as Kitab al-Nabat (The Book of
Plants), much before Greek works on the subject were translated into Arabic. It far surpasses the works of Greek scientists,
such as Dioscorides and Theophrastus, on the subject.

As per the above passage Al-Itimad fi al-Adwiyyah al-Mufradah was written by



(1) Al-Kilabi  (2) Ibn al-Jazzar
(3) Ibn Hajr  (4) Ibn Abbas
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[Question ID = 1397][Question Description = Q94_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5585]
2.2

[Option ID = 5586]
3.3

[Option ID = 5587]
4. 4

[Option ID = 5588]

5) Read the following passage and answer the five question which follow :

The Andalusian scientist ibn Rumiyah undertook extensive journeys in search of plants and herbs which were not found in
his native land. He travelled to Egypt, Syria, and Iraq in the course of his itinerary and carefully recorded his observations.
Ibn al-Baytar (d. 646/1248) travelled far and wide and collected botanical specimens from different parts of the world. He
compared the flora of India and Persia with those of Greece and Spain. His work Al-Jami al-Mufradat al-Adwiyah wal-
Aghziyah, which describes fourteen hundred plants, has been acclaimed by Western scholars as a “monument of industry”.
Al-Ghafigi wrote an important work in botany, known as Kitab al-Adwiyah al-Mufradah. Ibn al-Jazzar (d. 370/980) wrote an
important book Al-ltimad fil-Adwiyah al-Mufradah, which discussed 278 simple methods of preparing medicaments and
compounds from vegetable, animal and mineral sources. The Latin translation of the book was used in medical teaching in
European universities for several centuries.

Abu Hanifah al-Dinawari (d. 282/895) compiled a comprehensive botanical lexicon known as Kitab al-Nabat (The Book of
Plants), much before Greek works on the subject were translated into Arabic. It far surpasses the works of Greek scientists,
such as Dioscorides and Theophrastus, on the subject.

According to the above passage |bn Rumiya was

(1) An Arab Scientist (2) A Greek Scientist
(3) An Andalusian Scientist (4) A Syrian Scientist
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[Question ID = 1398][Question Description = Q95_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5589]
2.2

[Option ID = 5590]
3.3

[Option ID = 5591]
4. 4

[Option ID = 5592]
Topic:- 49ArabCulture_C

1) Read the following passage and answer the question which follow :

Some of the early Arab historians have made detailed references to archaeological sites, ruins, and ancient inscriptions
belonging to the people of antiquity. The most comprehensive works in this field are Sifat Jazirah al-Arab and al-Iklil by al-
Hamadani and Kitab al-Tijan by ibn Ishaq. In addition, Yaqut al Hamawi (d. 623/1226) in his Mujam al-Buldan, Nuwayri in his
Masalik al-Absar, and al-Maqdisi (d. 375/985) in his Ahsan al-Taqasim fi Marifah al-Agalim provide valuable information
which has a bearing on Quranic archaeology.Significant information on Quranic archaeology is also available in Hadith
literature, especially in some of the detailed commentaries on Hadith, such as ibn Hajar's Fath al-Bari, which is a
commentary on Imam al-Bukhari’s al-Sahih. Ibn Kathir’s commentary on the Quran is also a valuable source of Quranic
archaeology. Ibn Khaldun deals with some aspects of Quranic archaeology in his Mugaddimah.

Some of the latter-day commentaries on the Quran in English, Arabic, Turkish, and Urdu touch upon the subject of Quranic
archaeology. Mention may be made of Qasas al-Anbiya (Arabic) by Abd al-Wahhab al-Najjar, the commentaries on the Quran
by Maulana Abul Kalam Azad (Urdu), Abdul Majid Daryabadi (English and Urdu), and Abul Ala Maududi (Urdu). Another
important work on the subject is Ard al-Quran. in Urdu, by Sayyid Sulayman Nadwi. The existing literature on the subject of
Quranic archaeology has been supplemented in recent years by a series of highly promising archaeological excavations in
Yaman, Saudi Arabia, Syria, Jordan, Israel, and Egypt.

According to the above passage Kitab al-Tijan was written by
(1) Ibn Rushd (2) Ibn al-Arabi
(3) Ibn Ishaq (4) Ibn Hisham
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[Question ID = 1399][Question Description = Q96_ArabCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5593]
2. 2

[Option ID = 5594]
3.3

[Option ID = 5595]
4. 4

[Option ID = 5596]

2) Read the following passage and answer the question which follow :

Some of the early Arab historians have made detailed references to archaeological sites, ruins, and ancient inscriptions
belonging to the people of antiquity. The most comprehensive works in this field are Sifat Jazirah al-Arab and al-Iklil by al-
Hamadani and Kitab al-Tijan by ibn Ishaq. In addition, Yaqut al Hamawi (d. 623/1226) in his Mujam al-Buldan, Nuwayri in his
Masalik al-Absar, and al-Maqdisi (d. 375/985) in his Ahsan al-Taqasim fi Marifah al-Agalim provide valuable information
which has a bearing on Quranic archaeology. Significant information on Quranic archaeology is also available in Hadith
literature, especially in some of the detailed commentaries on Hadith, such as ibn Hajar's Fath al-Bari, which is a
commentary on Imam al-Bukhari’s al-Sahih. Ibn Kathir’s commentary on the Quran is also a valuable source of Quranic
archaeology. Ibn Khaldun deals with some aspects of Quranic archaeology in his Mugaddimah.

Some of the latter-day commentaries on the Quran in English, Arabic, Turkish, and Urdu touch upon the subject of Quranic
archaeology. Mention may be made of Qasas al-Anbiya (Arabic) by Abd al-Wahhab al-Najjar, the commentaries on the Quran
by Maulana Abul Kalam Azad (Urdu), Abdul Majid Daryabadi (English and Urdu), and Abul Ala Maududi (Urdu). Another
important work on the subject is Ard al-Quran. in Urdu, by Sayyid Sulayman Nadwi. The existing literature on the subject of
Quranic archaeology has been supplemented in recent years by a series of highly promising archaeological excavations in
Yaman, Saudi Arabia, Syria, Jordan, Israel, and Egypt.

The above passage says that Ibn Hajar’s Fath at Bari is a commentary on
(1) Sahih Muslim (2) Al-Sahih by al-Bukhari
(3) Sunan Ibn Majah (4) Muwatta Imam Malik
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[Question ID = 1400][Question Description = Q97_ArabCulture_SHAAN_20NOV_S1_Shift1]
1. 1
[Option ID = 5597]
2. 2
[Option ID = 5598]
3. 3

[Option ID = 5599]
4. 4

[Option ID = 5600]

3) Read the following passage and answer the question which follow :

Some of the early Arab historians have made detailed references to archaeological sites, ruins, and ancient inscriptions
belonging to the people of antiquity. The most comprehensive works in this field are Sifat Jazirah al-Arab and al-Iklil by al-
Hamadani and Kitab al-Tijan by ibn Ishaq. In addition, Yaqut al Hamawi (d. 623/1226) in his Mujam al-Buldan, Nuwayri in his
Masalik al-Absar, and al-Maqdisi (d. 375/985) in his Ahsan al-Taqasim fi Marifah al-Agalim provide valuable information
which has a bearing on Quranic archaeology.Significant information on Quranic archaeology is also available in Hadith
literature, especially in some of the detailed commentaries on Hadith, such as ibn Hajar's Fath al-Bari, which is a
commentary on Imam al-Bukhari’s al-Sahih. Ibn Kathir’s commentary on the Quran is also a valuable source of Quranic
archaeology. Ibn Khaldun deals with some aspects of Quranic archaeology in his Mugaddimah.

Some of the latter-day commentaries on the Quran in English, Arabic, Turkish, and Urdu touch upon the subject of Quranic
archaeology. Mention may be made of Qasas al-Anbiya (Arabic) by Abd al-Wahhab al-Najjar, the commentaries on the Quran
by Maulana Abul Kalam Azad (Urdu), Abdul Majid Daryabadi (English and Urdu), and Abul Ala Maududi (Urdu). Another
important work on the subject is Ard al-Quran. in Urdu, by Sayyid Sulayman Nadwi. The existing literature on the subject of
Quranic archaeology has been supplemented in recent years by a series of highly promising archaeological excavations in
Yaman, Saudi Arabia, Syria, Jordan, Israel, and Egypt.

According to the above passage Abdul Majid Daryabadi wrote commentaries on the Quran both in
(1) English - Urdu (2) Persian - Hindi
(3) Urdu - Persian (4) Sindhi - Pushto
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[Question ID = 1401][Question Description = Q98_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5601]
2.2

[Option ID = 5602]
3.3

[Option ID = 5603]
4. 4

[Option ID = 5604]

4) Read the following passage and answer the question which follow :

Some of the early Arab historians have made detailed references to archaeological sites, ruins, and ancient inscriptions
belonging to the people of antiquity. The most comprehensive works in this field are Sifat Jazirah al-Arab and al-Iklil by al-
Hamadani and Kitab al-Tijan by ibn Ishaq. In addition, Yaqut al Hamawi (d. 623/1226) in his Mujam al-Buldan, Nuwayri in his
Masalik al-Absar, and al-Maqdisi (d. 375/985) in his Ahsan al-Taqasim fi Marifah al-Agalim provide valuable information
which has a bearing on Quranic archaeology. Significant information on Quranic archaeology is also available in Hadith
literature, especially in some of the detailed commentaries on Hadith, such as ibn Hajar's Fath al-Bari, which is a
commentary on Imam al-Bukhari’s al-Sahih. Ibn Kathir’s commentary on the Quran is also a valuable source of Quranic
archaeology. Ibn Khaldun deals with some aspects of Quranic archaeology in his Mugaddimah.

Some of the latter-day commentaries on the Quran in English, Arabic, Turkish, and Urdu touch upon the subject of Quranic
archaeology. Mention may be made of Qasas al-Anbiya (Arabic) by Abd al-Wahhab al-Najjar, the commentaries on the Quran
by Maulana Abul Kalam Azad (Urdu), Abdul Majid Daryabadi (English and Urdu), and Abul Ala Maududi (Urdu). Another
important work on the subject is Ard al-Quran. in Urdu, by Sayyid Sulayman Nadwi. The existing literature on the subject of
Quranic archaeology has been supplemented in recent years by a series of highly promising archaeological excavations in
Yaman, Saudi Arabia, Syria, Jordan, Israel, and Egypt.

The above passage says that Nuwayri is the author of
(1) Ard al-Quran (2) Al-Tasrif
(3) Masalik al-Absar (4) Mu’jam al-Buldan
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[Question ID = 1402][Question Description = Q99_ArabCulture_SHAAN_20NOV_S1_Shift1]
1. 1

[Option ID = 5605]
2.2

[Option ID = 5606]
3.3

[Option ID = 5607]
4. 4

[Option ID = 5608]

5) Read the following passage and answer the question which follow :

Some of the early Arab historians have made detailed references to archaeological sites, ruins, and ancient inscriptions
belonging to the people of antiquity. The most comprehensive works in this field are Sifat Jazirah al-Arab and al-Iklil by al-
Hamadani and Kitab al-Tijan by ibn Ishaq. In addition, Yaqut al Hamawi (d. 623/1226) in his Mujam al-Buldan, Nuwayri in his
Masalik al-Absar, and al-Maqdisi (d. 375/985) in his Ahsan al-Taqasim fi Marifah al-Agalim provide valuable information
which has a bearing on Quranic archaeology. Significant information on Quranic archaeology is also available in Hadith
literature, especially in some of the detailed commentaries on Hadith, such as ibn Hajar's Fath al-Bari, which is a
commentary on Imam al-Bukhari’s al-Sahih. Ibn Kathir’s commentary on the Quran is also a valuable source of Quranic
archaeology. Ibn Khaldun deals with some aspects of Quranic archaeology in his Mugaddimah.

Some of the latter-day commentaries on the Quran in English, Arabic, Turkish, and Urdu touch upon the subject of Quranic
archaeology. Mention may be made of Qasas al-Anbiya (Arabic) by Abd al-Wahhab al-Najjar, the commentaries on the Quran
by Maulana Abul Kalam Azad (Urdu), Abdul Majid Daryabadi (English and Urdu), and Abul Ala Maududi (Urdu). Another
important work on the subject is Ard al-Quran. in Urdu, by Sayyid Sulayman Nadwi. The existing literature on the subject of
Quranic archaeology has been supplemented in recent years by a series of highly promising archaeological excavations in
Yaman, Saudi Arabia, Syria, Jordan, Israel, and Egypt.

The above passage says that Yaqut al-Hamawi died in
(1) 623 AH (2) 640 AH
(3) 375 AH (4) 444 AH
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[Question ID = 1403][Question Description = Q100_ArabCulture_SHAAN_20NOV_S1_Shift1]
1.1

[Option ID = 5609]
2.2

[Option ID = 5610]
3.3

[Option ID = 5611]
4. 4

[Option ID = 5612]
Topic:- General Paper_Set1_A

1) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India 1n different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% X2
Sales (S8A) 12% Bz 3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% b:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% F=3
Others (OT) 6% *h

Fefertaa arfers o it 5w v 53 50 ad 9 79 % fafes e | una % weEee w5 aieea
(%) oo qon gr-afeen wdee ou g@iE @ 2wt &9 % B wEee § e 80 g
AT | T30 70 ARSI % 90 T U9 F 39 20

A = FEE F1 &Fan [Fa

wfeors (%) feren | ger-ufeen @y (g9 )
T (TE 3) 15% g0
ey (TH U) 12% 5:3
frmfor 3w srEam (o) 9% 5:4
TETEE (i ) 18% 57
YT (UH T) 21% 3:4
JearEA @ it (fF #) 19% 518
3= (=7 7) 6% 3:5

What is the average number of male workforce in all the sectors put together? (rounded-off to two decimal places)
(1) 6.39 lakhs (2) 4.69 lakhs
(3) 5.96 lakhs (4) 7.48 lakhs

Teft &t = e 959 Frse i oftud @e g4 27 (FEed & 3 5 aw)
(1) 6.39 =@ (2) 4.69 @@=
(3) 5.96 =g (4) 7.458 @™

[Question ID = 2007][Question Description = Q01_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8025]



2. 2 [Option ID = 8026]
3. 3 [Option ID = 8027]
4. 4 [Option ID = 8028]

2) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together is 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: B
Service (SE) 15% 32
Sales (SA) 12% Bz
Construction and Maintenance (M) 9% 5:4
Profezsional (PR) 18% h:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% FFa
Others (OT) 6% 3:5

FefetE aifer W fa=m fifse e o 57 50 99 % 7w = 5 & § 9ne 5 e w5 e
(%) faam a1 gEe-AfEen FEEe wATE ZmE T 2| @ & % Fe wEed F e 80 o 2l
ATeTeT § T2 U SATRS] % YW T YTT F 397 A

wferora (%) fereeor | gen-ufeen wgE (709 )
Tar (g ) 15% 3:2
Teg (TE ) 12% 5:3
fmtor =i sEm (o) 9% 5:4
mHere (i 3m) 18% 5:7
HeET (U ) 21% 3:4
JearEA ¥ i (fF #) 19% 518
¥ (=7 7) 6% 3:5

The number of female workforce in SE and PR sectors put together is what percent of the number of male workforce in CM
sector?

(1) 330% (2) 318%

(3) 320% (4) 80%

T § AT Ot AW #E § S gfee wEed S $e 5em i vg s 0 S Y wEEd 6 e w5
fomam wfeema 27

(1)  330% (2) 318%
(3)  320% (4)  80%

[Question ID = 2008][Question Description = Q02_GP_20NOV_S1_SHAAN]
1 [Option ID = 8029]
2 [Option ID = 8030]
. 3 [Option ID = 8031]
. 4 [Option ID = 8032]

A W N -

3) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together is 80 lakhs. Bazed on the data contained

in the table, answer the question :



Sector-wise Distribution of Workforece of India

Employment Sector Worlkforce of India
Percentage (%) Ratio of Male to Female
Distribution M:F)
Service (SE) 15% 3:2
Sales (S8A) 12% B 3
Construction and Maintenance (M) 9% bh:4
Professional (PR) 18% 5:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% 5 G
Others (OT) 6% *h

frafafes aifes = fa=m fifse 5o o 57 5o ad | om = fafim & & e & s =1 afam
(%) faao a1 Eu-AtEen FEEa sTE FmE T 2 @l & % Fe FwEea F sEm 80 o E
FifeAaT § 23U 0 aT7s] F oUW W UvT % 39 altan)

WA % FEEE F1 EFan G

wfeerd (%) T | gea-wiwen wged (39 )
Fa (TE 3) 15% i
Ty (ug ) 12% 5:3
formfor it srem (< om) 9% 5:4
TigFe (i #w) 18% 517
TaYT (T T) 21% 3:4
Seareq A ufEE (4 19% 5:3
W= (=7 7) 6% 3:5

The number of male workforce in SA and MA sectors put together is approximately what percent of the total number of
workforce in PT sector?

“
3

) 82%
) 89%

(2) 87%
(4) 85%

TH T R UH U A § HEAd 59 wEed f Fe WAl W 2 &9 § e FEed S fel Je @ e

feramn wfcwa 27
(1) 82%
(3) 89%

(2)

(4)

87%

85%

[Question ID = 2009][Question Description = Q03_GP_20NOV_S1_SHAAN]

AW N =

4)

1 [Option ID = 8033]
2 [Option ID = 8034]
3 [Option ID = 8035]
4 [Option ID = 8036]

Consider the following table that shows the percentage (%) distribution of workforce of India

and ratio of male to female workforce of India in different employment sectors during a given

vear. Total workforce 1n all the sectors put together is 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector

Worlkforce of India

Percentage (%) Ratio of Male to Female
Distribution M: F)
Service (SE) 15% 32
Salez (SAY 1904 A3




Construction and Maintenance (M) 9% 5:4
Profezsional (PR) 18% h:7
Management (MA) 21% 3:4
Production and Transport (PT) 19% Fra
Others (OT) 6% 3:5

FefetE aifer W fa=m fifse e o 57 50 99 3 7w = f5fm & § 9ne F e 5 i
(%) faemor @ gea-ufeen wEee wquE g9 T 2| '@l & % Per Heed H GEd 80 @
ATeTRT § T4 U SATRS] F YW W UTT F I A

ufaerd (%) faaeor | geu-afzen 9o (79 )
Tar (g €) 15% 352
H7 (TH T) 12% 5:3
famior afft sz (i uw) 9% 5:4
mHeEE (i Hw) 18% 5: 7
Teas (T T) 21% 3
e AR ot (h &) 19% 5:3
3= (=11 ) 6% 8:5

The difference in the number of female workforce in SA and MA sectors put together and the number of female workforce
in PT sector is :

(1) 5.1 lakhs (2) 7.5 lakhs

(3) 5.7 lakhs (4) 13.2 lakhs

UH U HN UH U aEl § HEid afeen Sreee $ $e g A 6 A & ° weg afgen sEee S gen w6

(1) 5.1 (2) 7.5 M@

(3) 5.7 =g (4) 13.2 9™

[Question ID = 2010][Question Description = Q04_GP_20NOV_S1_SHAAN]
1 [Option ID = 8037]
2 [Option ID = 8038]
3 [Option ID = 8039]
4 [Option ID = 8040]

A W N -

5) Consider the following table that shows the percentage (%) distribution of workforce of India
and ratio of male to female workforce of India in different employment sectors during a given
vear. Total workforce in all the sectors put together iz 80 lakhs. Bazed on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Sector Workforce of India
Percentage (%) Ratio of Male to Female
Distribution M: P
Service (SE) 15% 3:2
Sales (SA) 12% B 3
Construction and Maintenance (M) 9% 5:4
Professional (PR) 18% b: 7
Management (MA) 21% 3:4
Production and Transport (PT) 19% s
Others (OT) 6% 3:b

Safafiag afemr o SEr Fifsr f9ud o= 24 =v 99 °§ 09 r & e a9 8 9ng = =se =57 99



(%) Taemor G geu-ufeen e SEE SUE T 2| '@l &6 % Fel wEwe i ged 80 @
AT | 128 70 ATFS] % 90 7 U9 F 39 200

™ r ) x
WA = HEEe 1 HAaFE G

i (%) faqer | geu-aizen T (79 )
e (ug €) 15% g2
ey (ug ©) 12% 5:3
i =i srgrem (& ) 9% 5: 4
TFETEe (i 5w) 18% 5: 7
eE (TH T©) 21% 3:4
Iera Aff uftE (f ) 19% 5:3
W17 (=1 7) 6% 3:5

What is the ratio of the number of female workforce in CM sector compared to the number of male workforce in PR and OT
sectors put together?

(1)17:39 (2) 16 : 37

(3)16:35 (4)16:39

of vw & | weEd afEen wEwe S g A d 9w va o F sl d S gey wEee $ Fe ge &

I T 7
(1) 17:39 (2) 16:37
(3) 16: 35 4y 16:39

[Question ID = 2011][Question Description = Q05_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8041]
2. 2 [Option ID = 8042]
3. 3 [Option ID = 8043]
4. 4 [Option ID = 8044]

Topic:- General Paper_Set1_B

1) In which level of teaching, the main focus is laid on capturing and systematic presentation of ideas and information?
(1) Memory level (2) Understanding level
(3) Reflective level (4) Autonomous development level

ST % e T 1 g A famm s gE ) o w5 o 3u sraftad et WoEaT 27
() =hE (2) 3TFEY T
(3) wHE (4) wEET fTFm =

[Question ID = 2012][Question Description = Q06_GP_20NOV_S1_SHAAN]
1.1
[Option ID = 8045]
2. 2
[Option ID = 8046]
3.3

[Option ID = 8047]
4. 4

[Option ID = 8048]

2) The following is a list of some basic teaching competencies identified through various researches on teaching. Which
among of them fall in the domain of behavioural competencies?

(A) Self efficacy

(B) Planning

(C) Locus of control

(D) Communicating

(E) Flexibility

Choose the correct answer from the options given below :



(1) (A) and (B)
(2) (B) and (C)
(3) (D) and (E)
(4) (B) and (D)
fetertas Fo gt e auae fi g= @ 5 awe gadt fafie ot & mean @ fafme e

T #| 3 9 S SHaER WA i AHaTT 2| 39H O %0 A1 GEa ShEn e % A el | 7

(A)  sTeE-gEa (FWA)

(B) T

(D) ==ET

(E)  A5igan

e feu o fasedi # @ wF ST 1 wEA HifC

(1) (&) =R (B)
(2)  (B) &R (C)
(3) (D) = (E)
(4)  (B) = D)

[Question ID = 2013][Question Description = Q07_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8049]
2.2

[Option ID = 8050]
3.3

[Option ID = 8051]
4. 4

[Option ID = 8052]

3) Match List | with List I

. List | gives the methods of teaching in Institutions of higher learning while List Il provides the techniques of increasing
effectiveness of the method.

List | Listll

Methods of teaching Techniques for increasing effectiveness

(A) Face to face interactive method (l) Using Swayam and Moocs

(B) Open and distance learning method (lI) Programmed instructional packages
(C) Individualized method of teaching (lll) Modular instructional material

(D) Online methods of teaching (IV) Reflective questions coupled with discussion
Choose the correct answer from the option given below :

(1) (A)-(D, (B)-(I1), (C)-(IN), (D)-(IV)

(2) (A)-(1n), (B)-(IV), (C)-(1), (D)-(1)

(3) (A)-(V), (B)-(lI), (C)-(I1), (D)-(1)

(4) (A)-(11), (B)-(1), (C)-(1V), (D)-(l1)

-1 % Ty G-I 1 faem i) g1 8 3=3 wifomm g | foam i ffam & 02 2, 5=t g5
I % saterms fafami 1 wamEeiea) 92 51 a0 4 18 2

-1

F=-1I
THTEIEAAT FEH ] dFAE

(A) - i SAdizeaTeRs oty (I) =599 3 g3 F1 7=

(B) T AR gt st fafg
(C) oo it afwe fafa

(D) Toragor =it w37=TzT fara

(II) s Ao e

(II) ATsge Ao At
(IV) et =+ m-wry famsts o



= fou o faseqi # @ | =T w1 wE A

1) (A)-@. (B)-AI), (C)-(III), (D)-IV)
@) (A)-IID. B)-AV). (C)-I). (D)-II)
(3)  (A)-AV). B)-(IID). (C)-AD. D)-I)
4)  (A)-ID, B)-). (C)-(IV), (D)-(I1I)

[Question ID = 2014][Question Description = Q08_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8053]
2. 2 [Option ID = 8054]
3. 3 [Option ID = 8055]
4. 4 [Option ID = 8056]

4) Given below are two statements

Statement (l) : Achievement and aptitude tests are designed to assess the upper limits of the examinees’ knowledge and
abilities.

Statement (Il) : Objective personality tests and projective personality tests are designed to measure the typical behaviour
and characteristics of examinees.

In the light of the above statements, choose the most appropriate answer from the options given below:

(1) Both Statement (1) and Statement (ll) are correct

(2) Both Statement (I) and Statement (ll) are incorrect

(3) Statement (l) is correct but Statement (ll) is incorrect

(4) Statement (l) is incorrect but Statement (ll) is correct

e (D) IueIied AN FTHARAT W S WA % FH S Ieh A9l 1 S EE

TR FH = gemd dAn o e 2

w7 (1) : eI wAfhed TE 3R WadE sAthdaes Wi Wi & e seEEn 3 o

T R F A § AW A A
IWE HUF & A °, 4 50 T e § 6 ged ugw I o 9 i

(1) = (1) @ (1) 341 w8 2
(2) T (D) =77 (1) 241 T 2
(3) = () =l 2, &t Fom (10) 77 21

(4) =9 (1) e 2, s w00 T8 2

[Question ID = 2015][Question Description = Q09_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8057]
2. 2 [Option ID = 8058]
3. 3 [Option ID = 8059]
4. 4 [Option ID = 8060]

5) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The purpose underlying modern and ICT based support system in teaching is to optimise learning outcomes.
Reasons (R) : An effective instructional support system has to be linked with enhancement of learning conditions.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= T-IT =y feu o 'F" U ATOFYHE (Assertion A) % w9 H fofad % Gl T 5% MW (Reason R)
FETE :

s (A) e 4 sy ofit g #@ A smariE geEa g 1 Fia wEEE wtam e
T TOAE T 2|



F0 (R) ToRelt et forerr wEmrET oonel w0 st aRiEdteAt § gun % 'y w6 e A
S

ER e n e e R e ot ot B o G e i i | = e o et e o o e A L

(1)  (A) &1 (R) A1 79 2 31 (R). (A) Fi =& =z 2

(2)  (A) 37 (R) 31 = 2, |fF (R). (A) it wdt =men 796 2
(3)  (A)mea 2, AfF (R) 70T 2

(4)  (A) 33 2, ©fF (R) &7 21

[Question ID = 2016][Question Description = Q10_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8061]
2. 2 [Option ID = 8062]
3. 3 [Option ID = 8063]
4. 4 [Option ID = 8064]

6) Which type of research encourages participant's perspective?
(1) Ethnographic method (2) Historical research
(3) Exegetic research (4) Experimental research

| v & =g | wlaari-ufaes s wefa e s 27

(1)  Fdta =g (2) tfaefas @y
(3)  =AEETH® WY (4) TEFTeEE Y

[Question ID = 2017][Question Description = Q11_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8065]
2. 2 [Option ID = 8066]
3. 3 [Option ID = 8067]
4. 4 [Option ID = 8068]

7) Hypothesis testing which results into either affirmation or disaffirmation is the explicit concern in which methods of
research?

(A) Descriptive method

(B) Experimental method

(C) Ex Post Facto method

(D) Historical method

(E) Exegetical method

Choose the correct answer from the options given below :
(1) (A) and (B)

(2) (B) and (C)

(3) (€) and (D)

(4) (D) and (E)

e wfieer fomeht afiorfa = @1 sifagfe =1 smfe &9 9 2 2, oy & F=faies 5 9 & fate

=1 TIE TN & 7

(A TagoneEs &t
(B)  wEETeE faty
(C) =@ fafa
(D)  fFeo fafa

(E) = fafy

e fau o faseul A § wE 3T #1 == it

(1)  (A) ¥ (B)
(2)  (B) 3w (C)

(3) (C) = (D)

Pares LU RN



L) VLAY ot L)

[Question ID = 2018][Question Description = Q12_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8069]
2. 2 [Option ID = 8070]
3. 3 [Option ID = 8071]
4. 4 [Option ID = 8072]

8) Match List | with List Il. List | gives steps of research while List Il provides techniques used.
List |  List Il Steps of research  Techniques used

(A) Problem formulation (I) Tabular and graphical representation of data

(B) Hypothesis making (Il) Drawing a subset from a larger set

(C) Selecting a sampling procedure (lll) Raising pivotal question in a field of enquiry
(D) Data Analysis (IV) Setting up relationship among variables of research

Choose the correct answer from the option given below :

(1) (A)-(ln), (B)-(1V), (C)-(IN), (D)-(I)

(2) (A)-(1), (B)-(I), (C)-(IN), (D)-(1V)

(3) (A)-(I), (B)-(lN), (C)-(1), (D)-(IV)

(4) (A)-(, (B)-(1), (C)-(1), (D)-(1V)

g1 % |1y -1 = ferm =i g=fi-1 9 9w = =77 e 2, S=is g=-11 § 37 gR1 W a5

-1 T 1T
T = = TR | A AETE! A
(A) HwEET HHE (I) AT 1 TR AT T T
(B) wfehewT fFmm (II) ©F TevR T2 W THEAT H o7
(C) wferraa ufsen =1 === (I11) == % &= § g 74 336
(D) wAmre fagermm (IV) =% = =@ = s gee S

= fEu o e | W wEl 39 W =9 FI0AT

1) (A)-ID, B)-IAV). (C)-(ID). (D)-(D)
@ (A)-D. (B)-AD. (C)-(IID), (D)-AV)
(3)  (A)-aD. B)-AID. (C)-@). D)-IV)
(4) (A)-(IID), (B)-(D), (C)-(ID), (D)-(IV)

[Question ID = 2019][Question Description = Q13_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8073]
2. 2 [Option ID = 8074]
3. 3 [Option ID = 8075]
4. 4 [Option ID = 8076]

9) Given below are two statements

Statement (l) : There is no difference between format and styles of writing and referencing in a thesis and a research
article.

Statement (Il) : Research ethics and its observance is mandatory for all researches.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (Il) are true

(2) Both Statement (l) and Statement (ll) are false

(3) Statement (I) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

F= 2wy fRu T -

w4 (D) U WH-TEE AT AY-UF H ogd N @A % ey AR el % s i A T8
Fo (II) Tt wEHt s W 3 ST w9t e * o i 2

IYIIh HYH & e 1, 9 o e el | 9 wd 3w 99 it




(1) == (I) 6 (1) 2F °ed 7
(2) =Y (D) & (I0) 241 78T 2|
(3) = (I) B 7, =it e (1) 3180 2

(4) T (1) =79 &, A= F9 (1D 97 2

[Question ID = 2020][Question Description = Q14_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8077]
2. 2 [Option ID = 8078]
3. 3 [Option ID = 8079]
4. 4 [Option ID = 8080]

10) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : A research hypothesis (H1), has to be tested with the help of a Null hypothesis called (HO).
Reasons (R) : Tenability of research hypothesis (H1) cannot be directly affirmed.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

49 31 #9920 70 ;v wiFUT (Assertion A) F T H fafEa 2 A 5 3% FW0 (Reason R)
FETH

wATHHTT (A) : et wie afeEer (Hy) =0 et aftsesar (Ho) =1 =erear d ohem fee =
=HTET |
F (R) st gfeRer (Hy) 6 aharta 1 siigfe drg =0 9 78 it 51 a1 2

I FYT F A |, 49 70 e § 8 wee S S5 R =99 i

(1) (A) ¥R R) FH =E F IR R), (A) F T == R

(@) (A) 3 R) IA TE F, = (R), (A) F T = T e
(3) (A W 2, A (R) WA T 2

@) (A=A FE B, S (R) WA R

[Question ID = 2021][Question Description = Q15_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8081]
2. 2 [Option ID = 8082]
3. 3 [Option ID = 8083]
4. 4 [Option ID = 8084]

11) Every year Press Council of India celebrates the National Press-Day on :
(1) January 30 (2) May 30
(3) October 15 (4) November 15

YA UH TR e a6 g U fae eteten 1§ 9 e 5w e e e
(1) 30 St (2) 307g
(3) 15 I (4) 15 Fa=%

[Question ID = 2022][Question Description = Q16_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8085]
2. 2 [Option ID = 8086]
3. 3 [Option ID = 8087]
4. 4 [Option ID = 8088]

12) Which Newspaper logo bears ‘‘Let Truth prevail’’?
(1) The Statesman (2) Times of India
(3) The Tribune (4) The Hindu

| TmmTT 1 odE-faE (S) "Let truth prevail” #7

FERY 5 S Y TTeETOT TR o e



L i T s L A= RN YOUTIREAET W R

(8) &g (4) "7

[Question ID = 2023][Question Description = Q17_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8089]
2. 2 [Option ID = 8090]
3. 3 [Option ID = 8091]
4. 4 [Option ID = 8092]

13) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).

Assertion (A) : The more performative broadcast is also more cohesive and popular, but owing to new media its effect is
decreasing.

Reasons (R) : Internet is tending to eclipse broadcast media.

In the light of the above statements, choose the most appropriate answer from the options given below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

= 31 wue 20 U § ;v wiEUs (Assertion A) % ¥ H fafiga B @ FET I5% FN0 (Reason R)
+E]H

R (A) Al TERY (FTe=re) SuaHa Afas Fafweie 5 ow0E war &, g T8 difsa
i 9% | 39 U9 92 W 2

F0 (R) ; SeTz g (wiswe) difsa w dwwf 2 i 2 v 2
I FYT T A A, 4= 70 T e 8 8 wee S S5 R =9 i

(1) (A) % R) IA FE F 30 R). (A) F 76 =0T 7

(2) (A 3 (R) IF TE E, =06 (R), (A) i T2 = w6 2
(3) (A = 2, i (R) @E 44 2

4)  (A)=E FE 2, wfw (R) WA )

[Question ID = 2024][Question Description = Q18_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8093]
2. 2 [Option ID = 8094]
3. 3 [Option ID = 8095]
4. 4 [Option ID = 8096]

14) For emerging field of mass communication researcher Paul Lazarsfeld proved to be seminal thinker and researcher in
what way?

(A) For exploring the potential of Social Science methods.

(B) For providing training with a high level of entrepreneurial skill.
(C) For raising the standard of American Education System.

(D) For making assumptions that media have limited direct effect.
Choose the most appropriate answer from the options given below :
(1) (A) and (B) only

(2) (B) and (C) only

(3) (C) and (D) only

(4) (A) and (D) only

SHET #F 39T &7 =g AE U Aqahies 0 T O T aniys e 3 et afed g
(A mE fagm Tt A awa A @ = F )

(B) ¥ v FEA F9E # =g e 21 % )

(C)  arfmEm i foven qonet =1 &1 924 & fen)

(D) =& gRon sAH = fag & difsa =1 gew e e 2 2

dr fou o faewt ® @ @eE U I 1 = A



(1) =hd« (A) AR (D)
(2)  Fa= (B) 1 (C)
(3)  #aw (C) #it (D)
(4)  F=E (A) #Hi (D)

[Question ID = 2025][Question Description = Q19_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8097]
2. 2 [Option ID = 8098]
3. 3 [Option ID = 8099]
4. 4 [Option ID = 8100]

15) From the list given below, identify the Psychological barriers to communication
(A) Noise

(B) Invisibility

(C) Prejudice

(D) Disinterest

(E) Inattention

Choose the most appropriate answer from the options given below :
(1) (A), (B) and (C) only

(2) (B), (C) and (D) only

(3) (C), (D) and (E) only

(4) (A), (C) and (D) only

H= &t 72 = 9 9w i aAEmE et = = fifm

A) =
(B)  aFgEl
(C) TamE
(D) =t

(E) = =14 841

= fau o faweTl § | WE 39 o =9 FirAw

(1)  =ee (A), (B) 3 (C)
(2) === (B), (C) #” (D)
(3) == (C). (D) % (E)
(4)  =ae (A), (C) # (D)

[Question ID = 2026][Question Description = Q20_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8101]
2. 2 [Option ID = 8102]
3. 3 [Option ID = 8103]
4. 4 [Option ID = 8104]

16) The average monthly expenditure of a family was Rs. 4,000/- for the first 3 months; Rs. 4,500/- for the next 4 months
and Rs. 5,000/- for the last 5 months of a year. If the total saving during the year was Rs. 5,000, find the average monthly
income of the family

(1) Rs. 3,000/- (2) Rs. 4,000/-

(3) Rs. 5,000/- (4) Rs. 6,000/-

TF 99 % S0 UF UNER # HEd A1 = 99H 3 BEAl #4000 w0, 3HF e 4 HEHl H 4500 w9
# #Afm 5 #wEA #5000 T A1) I =W AW F A FA w=A 5000 ¥ f | 3@ ufEwR i ostEn
oI 37 AT 7

(1)  3000/- == (2)  4000/- ==

=N 5000 /- Foa Ay G000/ — FoE



[Question ID = 2027][Question Description = Q21_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8105]
2. 2 [Option ID = 8106]
3. 3 [Option ID = 8107]
4. 4 [Option ID = 8108]

17) Find the average of all prime numbers between 70 to 90
(1) 76.5 (2) 98.25
(3) 55.75 (4) 56.75

70 © 90 = =g F W WuT "Eme = o Ed 9a -

(1) 765 (2) 98.25
(3) 55.75 (4) 56.75

[Question ID = 2028][Question Description = Q22_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8109]
2. 2 [Option ID = 8110]
3. 3 [Option ID = 8111]
4. 4 [Option ID = 8112]

18) By selling 33 litres of milk, one gains the selling price of 11 litres. Find the gain in percentage :
(1) 25% (2) 50%
(3) 70% (4) 80%

T = 33 Few 39 = W 11 #ew 39w fawa gem % e @ Atda wa B afowa e
Q\E{-:

(1) 25% @) 50%
(3)  70% (4) 80%

[Question ID = 2029][Question Description = Q23_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8113]
2. 2 [Option ID = 8114]
3. 3 [Option ID = 8115]
4. 4 [Option ID = 8116]

19) If the cost price is 95% of the selling price, then what is the profit in percentage?
(1) 4.26% (2) 5.26%
(3) 5% (4) 7.2%

at3 ot wg 1 P g me T gom A 95% 2 ot =y i witeraa = 27

(1) 4.26% (2) 5.26%
(3) 5% 4 T7.2%

[Question ID = 2030][Question Description = Q24_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8117]
2. 2 [Option ID = 8118]
3. 3 [Option ID = 8119]
4. 4 [Option ID = 8120]

20) If someone sells an item at a cost of Rs. 1,200/- with a loss of 25%, at what cost she/he should have sold it to get a
profit of 30%?

(1) Rs. 1,600/- (2) Rs. 2,000/-

(3) Rs. 2,080/- (4) Rs. 1,560/-

Afz s =afw et awq #1 25% vfawa &1 =1 T 39 1200/~ #9094 =01 2 @ 30% = 9 FAH F

fou =5 =5 awg =i fem Fma w s=a =E a?

(1)  1600/- =93 (2) 2000/- =93
(3)  2080/- wwd (4) 1560/- =5

[Question ID = 2031][Question Description = Q25_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8121]
2. 2 [Option ID = 8122]
3. 3 [Option ID = 8123]
4. 4 [Option ID = 8124]



21) Which one of the following sources of knowledge (pramana) in classical Indian Philosophy is based on similarity of the
unobserved object with a known object?

(1) Arthapatti (2) Anumana

(3) Upamana (4) Unuplabdhi

T RATE 29T § WA w0 Fefatad § @ wiE-A 9 e 95 w9 9 F wy aEa w®
eI 27

(1) =3 (2) AN
(3) FUHH (4) :ﬂgqaﬁs'x

[Question ID = 2032][Question Description = Q26_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8125]
2. 2 [Option ID = 8126]
3. 3 [Option ID = 8127]
4. 4 [Option ID = 8128]

22) What is the correct sequence of steps in case of inference according to Indian Logic?
(A) Statement of similarity/applicability of the example to case in consideration (upanaya)
(B) Statement of Reason (hetu)

(C) Affirmation of the thesis as proved (nigmana)

(D) Statement of thesis (Pratijia)

(E) Giving an example of the underlying rule (udaharana)

Choose the correct answer from the options given below :

(1) (D), (E), (A), (C), (B)

(2) (D), (C), (B), (A), (E)

(3) (D), (B), (E), (A), (C)

(4) (D), (E), (A), (B), (C)

A TREITE o ATEN SN T WH | ST S wE e R

(A)  TaEme fawm @ sgmEe i wHEa/aEsar # w9 (3999)
(B)  wwon = w9 (%9)
(©)  afyamon $i fadh % =v & gfe ()

(D) aAfqgmen =1 F9F (wfa)

(E) Tafes fam =1 sgmm 24 (3gmmn)

et o famedt & @ wE w1 =A i

(1) (D). (E). (A). (C). (B)

(2) (D). (C). (B). (A). (E)

(3) (D), (B). (E). (A), (C)

(4) (D), (E). (A). (B). (C)
[Question ID = 2033][Question Description = Q27_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8129]
2. 2 [Option ID = 8130]

3. 3 [Option ID = 8131]
4. 4 [Option ID = 8132]

23) WWhich of the following schools of Classical Indian Philozophy reduce Sabda pramana

(verbal authority) to inference?

(A) Navava
(B) Vaiéesikas

() Buddhists



(D) Mimamsa
(E) Carvaka/Lokavata

Choose the correct answer from the options given below :

(1) (B) and (C) only
(2) (B). (C) and (E) only
(3) (B) and (E) only
(4) (A), (D) and (E) only

e YA A9 i FBHE-E HEEE 952 TH H SGEE o AT el 2

(A) =M
(B) duif=m
€ g
(D)  mEn

(E) =i/«

A= 2w Tu kel | © @Rl 3T 1 = ST

(1) === (B) @1 (C)
(2)  Fa= (B). (C) 27 (E)
(3) e (B) 1 (E)

(4) a9 (A), (D) # (E)

[Question ID = 2034][Question Description = Q28_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8133]
2. 2 [Option ID = 8134]
3. 3 [Option ID = 8135]
4. 4 [Option ID = 8136]

24) Given below are two statements

Statement (I) : According to classical Indian Logic the psychological sequence also corresponds to the logical sequence.
Statement (ll) : The logical structure represents not how we ought to infer, but how, as a matter of fact, we do infer.
In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (1) and Statement (ll) are false

(3) Statement (l) is true but Statement (ll) is false

(4) Statement (l) is false but Statement (ll) is true

A &1 e fau o
e (D) : T AR T % A SRS FE @ w6 % e ot 2 2
Faa (1) ks WA 97 a1 gl 2 5 =6 5| uen 8 e s @i afew e 98

FaTdt 2 75 =9 HE A @ 2

IRE FHUA F A 9, T B0 FEeT 5 " g 39w 99 i

(1) =39 (1) 37 (II) 31 a9 2|

(2) = (1) i (ID) 241 15 Bl



(3) T (DA ', @A w99 (1) 375 &

(4)  FyF (1) 39 &, @ %9 (1) 579 2

[Question ID = 2035][Question Description = Q29_GP_20NOV_S1_SHAAN]
1. 1

[Option ID = 8137]
2.2

[Option ID = 8138]
3.3

[Option ID = 8139]
4. 4

[Option ID = 8140]

25) Match List | with List Il

List | List Il

Steps of Argument Propositions

(A) Affirmation of the thesis as proven (l) Wherever there is smoke, there is fire as in the kitchen
(B) Statement of reason (ll) There is fire on the hill

(C) Giving an example of underlying rule (lll) Therefore there is fire on the hill

(D) Statement of thesis to be established (IV) Becuase there is smoke

g1 % =y g=-11 1 faam Fifs)
g=fi-1 g1-11
T = LETIED!
(A)  FAfraron 6 wariE & w9 9 gfe (Iy =&l g1 war & 98 A0 Bl 8 od Wigat
|
(B) =m0 T FUA (II) WETE W A R
(C) fafza Fm =1 =2 = (IIT) @ T=rE o 7 2|
(D) Tiaa 1 SaTe ST #= w9 (IV) @it & g1 2

= fau U feekewt | @ wWE 3T w1 = i

(1) (A)-(I). (B)-(IIL). (C)-(IV), (D)-(1I)
(2) (A)-(IV). (B)-(III). (C)-(I). (D)-(II)
(3) (A)-(III), (B)-(IV). (C)-(I). (D)-(II)
(4) (A)-(ID), (B)-(1), (C)-(ILT), (D)-(IV)

[Question ID = 2036][Question Description = Q30_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8141]
2. 2 [Option ID = 8142]
3. 3 [Option ID = 8143]
4. 4 [Option ID = 8144]

26) An IT Company has recently produced a new laptop model that uses less power, is smaller in size and weighs less than
previous laptop models.

The technology that has been used to accomplish this, is :

(1) Faster RAM  (2) Blu-Ray Drive

(3) Solid State Hard Drive (4) LCD Technology

T 373 21 HOHI A B Bl § U A4 Hisel % 92T 1 i e # few e fagg i gud w2 a
S fuae Sueia Aisdt #i AU HE § D12 3 999 § FH 2|

(L) PR (d) (2 =q-tgEa
(3)  wifas w2 718 359 (4) Ue Hi S s

[Question ID = 2037][Question Description = Q31_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8145]
2. 2 [Option ID = 8146]



3. 3 [Option ID = 8147]
4. 4 [Option ID = 8148]

27) Given below are two statements : One is labelled as Assertion (A) and the other is labelled as Reason (R).
Assertion (A) : Every general-purpose computer must have an Operating System (OS) installed on it.

Reasons (R) : Man and Computer cannot communicate directly.

In the light of the above statements, choose the correct answer from the options given below

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true

= 71 = fau e £ ww wfiEeE (Assertion A) ¥ w9 H fafiaa & @ FHI 3% F0 (Reason R)

W ETH

aFT (A) e W AT e § U AT i AEyEs w9 8 weifua 2 )
F0 (R) T H Fege 'Y J1 W A H w6 @ |

I FUA AR 4, 2= B2 famer § | wE 39 w6 == i

(1)  (A) 31 (R) 3A1 T9 & 31 (R). (A) F1 =& = 2
(2)  (A) 3 (R) I Te7 &, @i (R), (A) i gdt = 79 2|
(3) (A= 2, «feA (R) 987 &

(4)  (A) =@ 2, @A (R) 97 2

[Question ID = 2038][Question Description = Q32_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8149]
2. 2 [Option ID = 8150]
3. 3 [Option ID = 8151]
4. 4 [Option ID = 8152]

28) Identify the correct order of the following storage capacities ranked from largest to smallest capacity
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option given below :
(1) (D), (A), (C), (B)

(2) (A), (D), (C), (B)

(3) (A), (B), (C), (D)

(4) (D), (C), (A), (B)

T 9 W HeH IR ARG % wH 0 HEfiig e gEaie % WE wE H I S
(A) 1500 M Bytes

(B) 5 K Bytes

(C) 1 & Bytes

(D) T Bytes

= fou U feekel 9 @ wE I 1 = i

(1) (D), (A). (). (B)
(2) (A (D). (O). (B
(3) (A)., (B). (C). (D)
(4 (D), (C). (A). (B)

[Question ID = 2039][Question Description = Q33_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8153]



2. 2 [Option ID = 8154]
3. 3 [Option ID = 8155]
4. 4 [Option ID = 8156]

29) Given below are two statements regarding a smartphone that has both Bluetooth and Wi-Fi technology :
Statement (I) : Wi-Fi has a shorter range than Bluetooth.

Statement (Il) : Wi-Fi can transmit data at a faster rate than Bluetooth.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement (I) and Statement (ll) are true

(2) Both Statement (I) and Statement (ll) are false

(3) Statement (1) is true but Statement (ll) is false

(4) Statement () is false but Statement (ll) is true

SR % TEg A fAEE sgy 9 S-St gh 8, i g wYe fa

w9 (T) : FME-FTE FT T SZY H FH w2
Fv4 (ID) : AE-TTE T AU W Sy i S FA ATTE A W H T2 A T ww 2

IIRE U % AT °, Hr= F0 T Gt § 5 g 3o w0 =ge i

(1) = (1) 3 (I1) 21 |3 2
(2) = (1) 31 (11) 3FT 2/ 3
(3) = 1) = 3, A F (1) e 2

(4) = (I) 387 &, wiha %A (1D 77 2|

[Question ID = 2040][Question Description = Q34_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8157]
2. 2 [Option ID = 8158]
3. 3 [Option ID = 8159]
4. 4 [Option ID = 8160]

30) Match List | with List Il :

Teit-1 % @ g=-11 %1 e Fifm)
i1 11
(T, TTiCaT 77ee) ()
(A) OCR (I) Zfd =1 seafafiga eeaEal &1 T3 FH F
fem e & 21
(B) OMR (AT) =g-fowedta wiegnat § &% 2= F + o
(C) Email (IIT) STHA=TS FegHRe
(D) Instant Messaging (IV) =aFrfer Hegfenem
= fou o fameal # § e 3T w1 == i
(1) (A)-(IT). (B)-(I). (C)-(IV). (D)-(III)
@) (A)-AD. B)-dD). (C)-ID. (D)-AV)
(3) (A, (B)-AD). (C)-ID). (D)-aAV)
(4) (A)-M). (B)-I), (C)-(IV). (D)-(1I)
Match List I with List I :
ListI List IT

T Aarmmiiter Termael iPrirrmae)



e e - N e e e R e e o peibiasancart lbecdr e i

(A) OCR (! Used to scan typed or handwritten
documents

(B) OMR (II) Used to mark  multiple-choice
examinations

(C) Email (III) Asvnchronous Communication

(D) Instant Messaging (IV) Synchronous Communication

Choose the correct answer from the option given below :

(1) (A)-(ID). (B)-(D). (C)-(IV). (D)-(III)

(2) (A)-ID), (B)-(D). (C)-(ID). (D)-(IV)

(3) (A)-(D). (B)-ID). (C)-(III). (D)-(IV)

(4) (A)-(D). (B)-(IL), (C)y-(IV), (D)-(I11I)

[Question ID = 2041][Question Description = Q35_GP_20NOV_S1_SHAAN]
1.1

[Option ID = 8161]
2.2

[Option ID = 8162]
3.3

[Option ID = 8163]
4. 4

[Option ID = 8164]

31) Which of the following is an ozone depleting substance?
(1) Sulphur dioxide (2) Methyl chloride
(3) Carbon dioxide (4) Methane

Fferfiaa 3 ® 991 U6 SISE A HRA AT g 27
(1) TFR TEATHAES (2) THEs F=mES
(3) A SEEES (4) #Hem

[Question ID = 2042][Question Description = Q36_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8165]
2. 2 [Option ID = 8166]
3. 3 [Option ID = 8167]
4. 4 [Option ID = 8168]

32) Which of the following sources of energy is not a form of solar power?
(1) Tidal Power (2) Wind Power
(3) Coal (4) Hydro Power

fferfiga # & FH-= w91 &6 G 91 =9 A7 2 7
(1) I i (2) v s
(3) = (4) ==EgE

[Question ID = 2043][Question Description = Q37_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8169]
2. 2 [Option ID = 8170]
3. 3 [Option ID = 8171]
4. 4 [Option ID = 8172]

33) Which of the following natural hazards is characterized by progressive occurrence and multicausality?
(1) Earthquake (2) Volcanic eruption
(3) Epidemic  (4) Storm

frfafaa § 9 -5t ITHfa® ST9e ST agdt & R 39E S Eas | WE a8 7
(1) 5= (2) “EeEE TR
(3)  HEmE (4) TFH

[Question ID = 2044][Question Description = Q38_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8173]
2. 2 [Option ID = 8174]
3. 3 [Option ID = 8175]
4. 4 [Option ID = 8176]



34) The abbreviation NMSHE, in the context of Climate Action Plan of Govt. of India, stands for
(1) National Mission on Solar-Hydro Energy

(2) National Mission on Sustaining Himalayan Ecosystem

(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey of Himalayan Ecosystem

qAT TR Fil TR FE G F el § NMSHE fmafafas § 8 fras gamer 27

(1) National Mission on Solar-Hydro Energy
(2) National Miszion on Sustaining Himalayan Ecosystem
(3) National Mission on Sustainable Hydrogen Energy

(4) National Mission on Survey and Himalayvan Ecosystem

[Question ID = 2045][Question Description = Q39_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8177]
2. 2 [Option ID = 8178]
3. 3 [Option ID = 8179]
4. 4 [Option ID = 8180]

35) Which of the following pollutants have adverse implications for human health as well as climate change?
(A) Nitrogen dioxide

(B) Particulate matter (PM2.5)

(C) Ozone

(D) Methane

(E) Nitrous oxide

Choose the correct answer from the options given below :
(1) (B), (C) and (D) only

(2) (A), (B) and (C) only

(3) (B) and (D) only

(4) (B) and (C) only

frefafes § 9 5wt =1 wfage w9 5957 & e Wit Jearg afed W oasda 27

(A)  ATZESHE SEATFEEE
(B)  =orE 9219 (PMas)
(C) A=

(D) =

(E)  i5gH HAFEES

i fau Tu ket | @ WE I 1 =E i

(1) =& (B), (C) 21 (D)
(2) = (A), (B) T (C)
(3)  %ad (B) @i (D)
(4) == (B) 3R (C)

[Question ID = 2046][Question Description = Q40_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8181]
2. 2 [Option ID = 8182]
3. 3 [Option ID = 8183]
4. 4 [Option ID = 8184]

36) In context of Higher Education, Hon’ble Supreme Court directed which of the following national body/organisation to
frame and prescribe a course in Environment Education?
(1) UGC ; ; (2) NCTE
(3) NCERT ; ; (4) AICTE
o T & "2d H, WA F=a9 FEeE § g e § uE uEgdE ddn 9 fHgiid e 6 e
Frfetaa | @ e wgm T /amea =i g e e

(1) 7 = (2) T e
(3) wHiamA 4) uwaEHde

[Question ID = 2047][Question Description = Q41_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8185]



2. 2 [Option ID = 8186]
3. 3 [Option ID = 8187]
4. 4 [Option ID = 8188]

37) Match List | with List Il. List | names various organizations while List Il gives their location :
Listl ; ; ; ; Listll

(A) NAAC ; ; (1) Delhi

(B) NIEDA ; ; (ll) Bengaluru

(C) NDRI ; ; (lll) Lucknow

(D) CDRI ; ; (IV) Karnal

g1 % =y g=-11 & faem $ifsw)
g=ht-1 F=f-11
(A) TATTH D T
(B) maEEIdT (1) ===
(C) UH S HW A (IIl) =&+
(D) i < = = (IV) =T

= fau mu foshedi ® © wE S 1 9 i

(1) (A)-aD, B)-(IID), (C)-(T), (D)-(IV)
@ (A)-AD, B)-D. (C)-AV), (D)-(III)
(3)  (A)-AID, (B)-AD), (C)-(T). (D)-IV)
4 (A)-AV). (B)-(ID. (C)-AD). (D))

[Question ID = 2048][Question Description = Q42_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8189]
2. 2 [Option ID = 8190]
3. 3 [Option ID = 8191]
4. 4 [Option ID = 8192]

38) NEP-2020 proposes to establish NETF. What are the stipulated functions of this body?

(A) Articulate new directions for research and innovation in technology.

(B) Provide a platform for free exchange of ideas on use of technology to understand learning.
(C) Engage multilingual experts to help promotion of all Indian Languages.

(D) Advancing international research efforts to address global challenges in healthcare agriculture and climate change using
Al (Artificial Intelligence).

(E) Build intellectual and institutional capacities in Educational technology.

Choose the correct answer from the options given below :

(1) (A), (D), (E) only

(2) (A), (B), (E) only

(3) (B), (D), (E) only

(4) (A), (C), (D) only

72 T Hifg (ua € d1)-2020 ° w7 < & us F e FAA w1 w=E 2| 39 e F fated wewe g 7

(A) iR § sEeE s TEEn 2 e fFEm dEn )

(B)  =ifermg =i HEwH =g ArEifR % TEE % @eg § HEE % ged EE-T9E 50 OF 09 9ed S

(C) =i TR AT W w37 ° GEEa wg aRAr e w5 e wwen

(D)  TEwe dft=El, FH iR FeEE afEdT F aw © ATew gHifem B W e eg et
ST =1 TAR S 7Y S AIEEH T4 wA

(E)  Toraw dtenfiehi o sifgs 37 54w smarsl 1 Faior s

= fau o e | | WA 39 o =9 FI0AT

i1y == FAY (T (Y



b S B A B g

(2) === (A), (B). (E)
(3) %=+ (B). (D). (E)

(4) e (A). (C). (D)

[Question ID = 2049][Question Description = Q43_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8193]
2. 2 [Option ID = 8194]
3. 3 [Option ID = 8195]
4. 4 [Option ID = 8196]

39) Which of the following are e-learning platforms?
(A) SWAYAM

(B) PARAKH

(C) SWAYAMPRABHA

(D) DIKSHA

(E) MOOC

Choose the correct answer from the options given below :
(1) (A), (B), (E) only

(2) (A), (C), (D) only

(3) (B), (C), (D) only

(4) (C), (D), (E) only

et # 9 FH-0 3-wfamm 5= 27
(A T

(B) W@

(C)  w=FwE

D)

(Ey TO%

= fau o famweal § | HEl I @ =9 HA

(1) 3= (A). (B). (E)
(2)  =aE (A). (C), (D)
(3) == (B), (C). (D)
(4)  #Fa= (C). (D). (E)

[Question ID = 2050][Question Description = Q44_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8197]
2. 2 [Option ID = 8198]
3. 3 [Option ID = 8199]
4. 4 [Option ID = 8200]

40) Which among the following goals adopted by the UN member States in 2015 is related to SDG-4?
(1) Good health and well being (2) Quality education
(3) Poverty alleviation (4) Industry innovation and infrastructure

I Uk TEE g9 g1 A 2015 # @A G wE-4 O gEtdd SeieiEd @ 3w -0 95 S

=T °ry
(1) 379 TEeg 3R e (2)  ToEETEE T
(3) T IEA (4) TR FATER TH SFETEAT

[Question ID = 2051][Question Description = Q45_GP_20NOV_S1_SHAAN]
1. 1 [Option ID = 8201]
2. 2 [Option ID = 8202]



3. 3 [Option ID = 8203]
4. 4 [Option ID = 8204]

Topic:- General Paper_Set1_C

1)

Read the passage carefully and answer the questions that follow :

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
vear, the virus has spread to every continent except Antarctica. We have now reached the
tragic mileztone of one million deaths, and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1= much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal, economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this year. which could mean 800

million people will not be able to meet their basic needs.
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The major crisis faced by the world since World War Il is in which area?
(1) Industrial (2) Technological
(3) Communication (4) Health
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[Question ID = 2052][Question Description = Q46_GP_20NOV_S1_SHAAN]
1 [Option ID = 8205]
2 [Option ID = 8206]
3 [Option ID = 8207]
4 [Option ID = 8208]

AW N =

Read the passage carefully and answer the questions that follow *



The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1ts emergence 1n Asia late last
vear, the virus has spread to every continent except Antarctica. We have now reached the
tragic mileztone of one million deaths, and the human family iz suffering under an almost
intolerable burden of loss. But the pandemic 1= much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UN's socio economic recovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income, with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear., which could mean 300

million people will not be able to meet their basic needs.
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The pandemic has left which of the following area unaffected?
(1) Social (2) Economic
(3) Travel and tourism (4) Telecommunication
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[Question ID = 2053][Question Description = Q47_GP_20NOV_S1_SHAAN]
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1 [Option ID = 8209]
2 [Option ID = 8210]
3 [Option ID = 8211]
4 [Option ID = 8212]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic is the defining global health crisis of our time and the
greatest challenge we have faced since World War Two. Since 1tz emergence 1n Asla late last
vear. the virus has spread to every continent except Antarctica. We have now reached the

tragic milestone of one million deaths. and the human family 1z suffering under an almost



intolerable burden of loss. But the pandemic is much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches. it has the
potential to create devastating soclal. economic and political effects that will leave deep and
longstanding scars. UNDP 1z the technical lead in the UN's socio economic Tecovery,
alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear., which could mean 800

million people will not be able to meet their basic needs.
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Which continent is least affected by COVID-19?
(1) Asia (2) North America
(3) Australia (4) Antarctica
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[Question ID = 2054][Question Description = Q48_GP_20NOV_S1_SHAAN]
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1 [Option ID = 8213]
2 [Option ID = 8214]
3 [Option ID = 8215]
4 [Option ID = 8216]

Read the passage carefully and answer the questions that follow :

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1tz emergence 1n Asia late last
vear, the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths, and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1s much more than a health crisis, its also an
unprecedented soclo economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating soclal, economic and political effects that will leave deep and

longstanding scars. UNDP 1s the technical lead in the UN's socio economiec recovery.



alongside the health response lead by WHO, and the Global Humanitarian Response Plan.
and worlking under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small
1slandnations, heavily dependent on tourism, have empty hotels and deserted beaches. The
International Labour Organisation estimates that 400 million jobs would be lozt. The World
Bank projects a US 3110 billion decline in remitttances this vear. which could mean 800

million people will not be able to meet their basic needs.
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Which of the following organization has given technical lead in the UN's socio-economic recovery plan?
(1) UNDP  (2) UNICEF
(3) UN-GHRP  (4) UNSC
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UNDP (2) UNICEF
UN-GHEP (4) UNSC

[Question ID = 2055][Question Description = Q49_GP_20NOV_S1_SHAAN]
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1 [Option ID = 8217]
2 [Option ID = 8218]
3 [Option ID = 8219]
4 [Option ID = 8220]

Read the passage carefully and answer the questions that follow *

The Corona Virus COVID-19 pandemic 1s the defining global health crisis of our time and the
ereatest challenge we have faced since World War Two. Since 1tz emergence 1n Asla late last
vear. the virus has spread to every continent except Antarctica. We have now reached the
tragic milestone of one million deaths. and the human family 1z suffering under an almost
intolerable burden of loss. But the pandemic 1z much more than a health crisis, itz also an
unprecedented socio economi crisis. Stressing every one of the country it touches, it has the
potential to create devastating social, economic and political effects that will leave deep and
longstanding scars. UNDP 1s the technical lead in the UN's soclo economic recovery,
alongside the health response lead by WHOQO, and the Global Humanitarian Response Plan.
and working under the leadership of the UN Resident Coordinators. Every day. people are
losing jobs and income. with no way of knowing when normality will return. Small

islandnations. heavily dependent on tourism, have empty hotels and deserted beaches. The



International Labour Organisation estimates that 400 million jobs would be lost. The World
Bank projects a US 3110 billion decline in remitttances this vear. which could mean 800

million people will not be able to meet their basic needs.
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In the wake of COVID-19 which of the following organisations/establishments will have least chances of closure?
(1) Tourism industry (2) Health care centres
(3) Industrial establishments (4) Educational institutions

FifFs-19 % AAF ¥ FeAfafed # @ & @1/ sfoumt =52 &5 it 799 F9 9= anf?

(1)  wiea gam (2) e =l e
(3) il wffem (4) efirs wfeE
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1. 1 [Option ID = 8221]
2. 2 [Option ID = 8222]
3. 3 [Option ID = 8223]
4. 4 [Option ID = 8224]






